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%>2@5<5==K9 @K=>: ?@>3@0<<=>3> >15A?5G5=8O ?@54;0305B
 <=>65AB2> C=825@A0;L=KE A8AB5< 

02B><0B878@>20==>3> ?@>5:B8@>20=8O, >1;040NI8E <>I=K<8 

A@54AB20<8 3D-<>45;8@>20=8O, 8 ?>72>;ONI8E 7=0G8B5;L=> 
?>2KA8BL MDD5:B82=>ABL @01>BK :>=AB@C:B>@>2 8 B5E=>;>3>2 2 
A0<KE @07;8G=KE AD5@0E ?@>5:B8@>20=8O 8 ?@>872>4AB20. 
"4=>9 87 =081>;55 2>AB@51>20==KE A8AB5< ?>4>1=>3> :;0AA0 
O2;O5BAO Siemens NX, ?@54AB02;ONI89 A>1>9 8=B5@0:B82=CN 

A8AB5<C 02B><0B870F88 ?@>5:B8@>20=8O, @0AG5B0 8 873>B>2;5=8O 
8745;89, ?@54=07=0G5==CN 4;O 8A?>;L7>20=8O 2 @07;8G=KE 
>B@0A;OE ?@><KH;5==>AB8. 
NX >B=>A8BAO : B0: =07K205<K< A8AB5<0< 2KA>:>3> C@>2=O 
02B><0B878@>20==>3> ?@>5:B8@>20=8O 8 >1;0405B H8@>:8< 

=01>@>< 8=AB@C<5=B0;L=KE A@54AB2. NX H8@>:> 
@0A?@>AB@0=5=0 2> 2A5< <8@5 8 8A?>;L7C5BAO 4;O @07@01>B:8 

?@>4C:F88 254CI8<8 <8@>2K<8 ?@>872>48B5;O<8, B0:8<8 :0: 
Daimler, Bosh, Boeing, NASA Jet Propulsion Laboratory, 

«"�� 8<. %CE>3>», «��!#* 8<. )@C=8G520», #�" «�� ��» 8 
?@. "A=>2=0O 7040G0 A8AB5<K 2 :>=5G=>< 8B>35 A>AB>8B 2 
A>:@0I5=88 AB>8<>AB8 A>740=8O 8745;8O, C;CGH5=88 53> 
:0G5AB20 8 A>:@0I5=88 A@>:>2 2KE>40 =0 @K=>:. 
�;O >1>7=0G5=8O A8AB5< MB>3> :;0AA0 8A?>;L7C5BAO 011@5280BC@0 
CAD/CAM/CAE (Computer-Aided Design, Computer-Aided 

Manufacturing, Computer-aided Engineering), GB> 4>A;>2=> 
?5@52>48BAO :0: «#@>5:B8@>20=85 A #><>ILN �><?LNB5@0», 
«�73>B>2;5=85 A #><>ILN �><?LNB5@0», 
«�><?LNB5@=0O ?>445@6:0 8=65=5@=KE @0AG5B>2». � @CAA:>< 

O7K:5 4;O >1>7=0G5=8O 2KH5?5@5G8A;5==KE @07=>284=>AB59 

?@>3@0<< 8A?>;L7C5BAO B5@<8= %�#$ (A8AB5<K 

02B><0B878@>20==>3> ?@>5:B8@>20=8O). 
#>4A8AB5<0 CAD ?@54=07=0G5=0 4;O 02B><0B870F88 ?@>5:B=KE, 
:>=AB@C:B>@A:8E 8 G5@B56=KE @01>B 8 @07@01>B:8 ?@>5:B=>-
:>=AB@C:B>@A:>9 4>:C<5=B0F88 (<>45;8@>20=85 45B0;59 8 
A1>@>:, A>740=85 G5@B5659, 0=0;87, >?B8<870F8O 
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:>=AB@C:F88 8 B.4.). %8AB5<0 NX CAD ?>72>;O5B 2K?>;=8BL 
<>45;8@>20=85 45B0;59 8 A1>@>: 8745;8O, ?@>25AB8 0=0;87 
?5@5A5G5=89 8 @0AGёB <0AAK, ?>43>B>28BL 2D-4>:C<5=B0F8N - 
G5@B568 8;8 3D-4>:C<5=B0F8N A 8A?>;L7>20=85< PMI (@07<5@K 
8 0==>B0F88 =0=>AOBAO =0 3D-<>45;L). % ?><>ILN 

8=AB@C<5=B0@8O ?@8;>65=89 <>45;8@>20=8O 45B0;59 8 
A1>@>G=KE 548=8F, ?>;L7>20B5;L <>65B A>740BL ?>;=K9 
F8D@>2>9 0=0;>3 @07@010BK205<>3> C7;0 8;8 548=8G=>9 45B0;8, 
A>45@60I89 B>G=CN 35><5B@8N, @0AAG8B0==K5 <0AA>2>-
8=5@F8>==K5 E0@0:B5@8AB8:8, A2>9AB20 <0B5@80;>2, 0 B0:65 2A5 
B@51>20=8O =5>1E>48<K5 4;O 873>B>2;5=8O 8 :>=B@>;O. 
�>7<>6=>AB8 A8AB5<K ?>72>;ONB <>45;8@>20BL 8745;8O ;N1>9 
AB5?5=8 A;>6=>AB8 8 @07<5@=>AB8 3 >B 1KB>2>9 B5E=8:8 4> 
8745;89 :>@015;L=>9 8 0280:>A<8G5A:>9 ?@><KH;5==>AB59. 
1;5:B@>==K5 <>45;8, A>740205<K5 2 ?@8;>65=8OE NX CAD 

8A?>;L7CNBAO 40;55 2 <>4C;OE 8=65=5@=>3> 0=0;870 8 

B5E=>;>38G5A:>9 ?>43>B>2:8 ?@>872>4AB20. 
#>4A8AB5<0 CAM >15A?5G8205B 02B><0B878@>20==CN ?>43>B>2:C 
C?@02;ONI8E ?@>3@0<< 4;O >1>@C4>20=8O A +#' =0 >A=>25 
<0B5<0B8G5A:>9 <>45;8 45B0;8, A>740==>9 2 CAD- A8AB5<5. 
 >4C;L NX CAM ?>445@68205B @07;8G=K5 284K >1@01>B:8: 
B>:0@=CN >1@01>B:C, D@575@=CN >1@01>B:C =0 34 5->A52KE
 AB0=:0E A +#', B>:0@=>- 
D@575@=CN, M;5:B@>M@>78>==CN ?@>2>;>G=CN >1@01>B:C. 
%>45@68B 2AB@>5==K9 <>4C;L A8<C;OF88 >1@01>B:8 =0 AB0=:5, 
@01>B0NI89 2 :>40E C?@02;ONI59 ?@>3@0<<K (G- :>40E), 
:>B>@K9 8A?>;L7C5BAO 4;O 0=0;870 '# 8 >15A?5G8205B :>=B@>;L 
AB>;:=>25=89. 
(C=:F88 8=65=5@=>3> 0=0;870 (CAE) >15A?5G820NB 0=0;87 
8745;8O, A1>@:8 8 2>7<>6=>ABL A8<C;OF88 ?@>F5AA>2 A ?><>ILN 

H8@>:>9 30<<K 8=65=5@=KE ?@8;>65=89. 
!01>@ A@54AB2 8=65=5@=>3> 0=0;870 2 A8AB5<5 NX ?@54AB02;O5B 
A>1>9 ?@8;>65=85 ?@5- 8 ?>AB?@>F5AA8=30  (Pre/Post) 8 
?>4:;NG05<KE : 8=B5@D59AC @0AGёB=KE @5H0B5;59. � :0G5AB25 
@5H0B5;59 <>65B 2KABC?0BL :0: ?0:5B NX Nastran, B0: 8 
?@>3@0<<=K5 ?0:5BK 4@C38E @07@01>BG8:>2. %@540 8=65=5@=>3> 
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0=0;870 <>65B @01>B0BL :0: =57028A8<>, B0: 8 2 8=B53@0F88 A 
PLM A8AB5<>9 Teamcenter. � ?>A;54=5< A;CG05 2A5 @0AG5B=K5 
40==K5 A>E@0=ONBAO 2 PLM A8AB5<K 8 C?@02;ONBAO A B>G:8 

7@5=8O ?@02 4>ABC?0, @52878>==>AB8, ?@>F5AA>2 2K?CA:0 8 
A>3;0A>20=8O, 8 B.4. 
(C=:F88 NX @0745;5=K ?> "?@8;>65=8O<" 8 2>7<>6=>ABO<. �A5 
DC=:F8>=0;L=K5 <>4C;8 NX 2K7K20NBAO 87 C?@02;ONI53> 
<>4C;O (O4@> A8AB5<K), :>B>@K9 =07K205BAO �07>2K9 <>4C;L NX 

- Gateway. �A5 >AB0;L=K5 <>4C;8 O2;ONBAO =5>1O70B5;L=K<8 8 
<>3CB 1KBL ?>4>1@0=K A>3;0A=> A?5F8D8:5 @01>BK 

?>;L7>20B5;O. 
NX - MB> ?>;=>ABLN B@5E<5@=0O A8AB5<0, :>B>@0O ?>72>;O5B 
8450;L=> 2>A?@>8725AB8 ?>GB8 ;N1CN 35><5B@8G5A:CN D>@<C, 
>?5@8@CO G8A;0<8 A C42>5==>9 B>G=>ABLN. �0: ?@028;>, @01>B0 
=0G8=05BAO A ?>AB@>5=8O 35><5B@88, >?8AK20NI59 8745;85 8;8 
45B0;L :>=AB@C:F88. !0 >A=>20=88 A>740==>9 B@5E<5@=>9 
35><5B@8G5A:>9 <>45;8 8745;8O 2?>A;54AB288 <>3CB 1KBL 
?>;CG5=K: 

- ?>;=>ABLN >1@07<5@5==K5 G5@B568; 
- :><0=4K 4;O AB0=:>2 A +#' ?@>872>4OI8E 

>1@01>B:C 8 2K?>;=ONI8E ?@>872>4AB25==K5 
?@>F5AAK; 

- 8AE>4=K5 40==K5 4;O @5H5=8O 7040G 
8=65=5@=>3> 0=0;870, =0?@8<5@, 48A:@5B=K5 <>45;8 

4;O <5B>40 :>=5G=KE M;5<5=B>2. 
#@8 MB><, 2=5 7028A8<>AB8 >B C@>2=O %�#$ 8 55 
8=AB@C<5=B0;L=>9 =0AKI5==>AB8, ?@0:B8G5A:8 2A5340 
ACI5AB2C5B @O4 7040G, 02B><0B870F8O :>B>@KE =5 ?@54AB02;O5BAO 
2>7<>6=>9 A 8A?>;L7>20=85< AB0=40@B=KE A@54AB2 A8AB5<K. � 
8E G8A;C <>6=> >B=5AB8 02B><0B870F8N @CB8==KE DC=:F89, 
B0:8E :0: ?>AB@>5=85 <0AA82>2 >4=>B8?=KE M;5<5=B>2, 
>B;8G0NI8EAO 107>2K<8 @07<5@0<8, 0=0;87 35><5B@88 8 
:>@@5:B8@>2:C 7=0G8B5;L=KE >1J5<>2 
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@0=55 A>740==KE <>45;59 A F5;LN 8E C=8D8:0F88 8;8 
CAB@0=5=8O >H81>:, A>740=85 <>4C;59 4;O @07<5I5=8O 8 
0=0;870 2 G5@B565 =53@0D8G5A:8E 40==KE, 8<5NI8E >B=>H5=85 
: ?@54<5B=>9 >1;0AB8 >1J5:B0 ?@>5:B8@>20=8O. 
!081>;55 MDD5:B82=K< A@54AB2>< @5H5=8O ?>4>1=KE 7040G 
O2;O5BAO 8A?>;L7>20=85 8=B5@D59A0 ?@8:;04=>3> 
?@>3@0<<8@>20=8O (API), ?@54AB02;ONI53> A>1>9 181;8>B5:8 

:;0AA>2, AB@C:BC@, ?@>F54C@ 8 DC=:F89, ?>72>;ONI85 ?>;CG8BL 
?@>3@0<<=K9 4>ABC? : >1J5:B=>9 <>45;8 A8AB5<K 8 

?@8720==K9 C?@>AB8BL A>740=85 ?>;L7>20B5;LA:8E ?@>3@0<<=KE 
<>4C;59, 8=B53@8@>20==KE A 107>2K< ?@>3@0<<=K< ?@>4C:B><. 
�A?>;L7>20=85 API ?>72>;O5B >ACI5AB2;OBL MDD5:B82=CN 

040?B0F8N A8AB5<K ?@>5:B8@>20=8O : A0<K< @07;8G=K< 

?>B@51=>ABO<, 7=0G8B5;L=> @0AH8@OBL 55 DC=:F8>=0;, GB> 
?>72>;O5B ACI5AB25==> A>:@0B8BL 70B@0BK =0 ?@>5:B8@>20=85 
8745;89. 
� A8AB5<5 NX =01>@ A@54AB2 API ?>;CG8; =0720=85 API NX 

Open. 

#5@5G5=L >A=>2=KE 8=AB@C<5=B>2 NX Open ?@82545= =0 @8A. 1. 

$8A. 1. �=AB@C<5=BK NX Open 
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"A=>2=K< 8=AB@C<5=B0@85< 2 =0AB>OI55 2@5<O O2;O5BAO 
Common API, 2:;NG0NI89 ?>445@6:C O7K:>2 .NET (VB 8 %#), 
%++, Java, 8, =0G8=0O A NX 10 3 Python. 

�;0AA8G5A:89 API ?>445@68205B C++ A 1>;55 AB0@K< =01>@>< 

DC=:F89 8 GRIP, C=0A;54>20==K9 NX >B UNIGRAPHICS. 

#><8<> MB>3> 8<55BAO =01>@ A@54AB2, =5 O2;ONI8EAO NX Open, 

=> >ACI5AB2;ONI8E ?>445@6:C >A=>2=KE 8=AB@C<5=B>2. � 8E 
G8A;C >B=>A8BAO SNAP 3 C?@>I5==K9 API, ?@54AB02;ONI89 

A>1>9 A>2@5<5==CN 25@A8N GRIP, Knowledge Fusiuon 3 =01>@ 
8=AB@C<5=B>2, ?>72>;ONI8E 2:;NG8BL ;>38:C 2 
@07@010BK205<CN <>45;L, Menuscript - A@54AB20 040?B0F88 
8=B5@D59A0 A8AB5<K, Block UI Styler 3 8=AB@C<5=B 4;O 
@07@01>B:8 ?@8;>65=89, 8A?>;L7CNI8E AB0=40@B=K9 8=B5@D59A 
NX. 

�> ?>O2;5=8O «"1I53> API» 1K;8 @07@01>B0=K B@8 @0==8E API, 
:>B>@K5 2 =0AB>OI55 2@5<O ?>445@6820NBAO, => =5 @072820NBAO. 
1B> Open C, Open C++ 8 NX Oen GRIP. � =0AB>OI55 2@5<O 
A@54AB20 Common API 8A?>;L7CNB 7=0G8B5;L=>5 :>;8G5AB2> 
DC=:F89 (>:>;> 5000), @50;87>20==KE 2 Open C. 

!081>;55 ACI5AB25==K5 E0@0:B5@8AB8:8 Common API 

?@82545=K =0 @8A. 2. 
Common API ?@54AB02;O5B A>1>9 A>2@5<5==CN 

C=8D8F8@>20==CN A@54C @07@01>B:8, 8=B53@8@CNICN 2 A515 2A5 
2>7<>6=>AB8 ?> @07@01>B:5 ?CB5< 8A?>;L7>20=8O >1I59 

>1J5:B=>9 <>45;8. 
!0 @8A. 3 ?@54AB02;5= ?5@5G5=L O7K:>2 ?@>3@0<<8@>20=8O 8 
A@54AB2 @07@01>B:8, ?>445@68205<KE Common API. 

*5;LN 40==>3> <5B>48G5A:>3> ?>A>18O O2;O5BAO >1CG5=85 
ABC45=B>2 >A=>2=K< ?@85<0< 8A?>;L7>20=8O API NX Open 4;O 
@5H5=8O 7040G B@5E<5@=>3> <>45;8@>20=8O. 
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$8A. 2. )0@0:B5@8AB8:8 Common API 
 

$8A. 3. #5@5G5=L ?>445@68205<KE Common API O7K:>2 
?@>3@0<<8@>20=8O 8 A@54AB2 @07@01>B:8 
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1. � ��"�'�!��/  ���"� № 1 

!������� � �!"/% ������� � NX 

 

*5;L @01>BK: !0CG8BLAO A>74020BL ?@>AB59H85 181;8>B5:8 2 
Visual Studio 4;O NX 7.5 8 70?CA:0BL 8E =0 2K?>;=5=85 2 NX, 

=0CG8BLAO @8A>20BL ?@>AB59H85 ?@8<8B82K (;8=8O, 4C30), 2D-

<>45;8 (?@O<>C3>;L=8:, >:@C6=>ABL), 0 B0:65 3D-<>45;8 
(F8;8=4@, ?0@0;;5;5?8?54, H0@) =0 8E >A=>25 A ?><>ILN 

>?5@0F89 «2K402;820=85» 8 
«2@0I5=85». 

1.1. "5>@5B8G5A:0O G0ABP 

�;O @07@01>B:8 ?@8:;04=KE ?>;L7>20B5;LA:8E ?@>3@0<< 4;O NX 

7.5 F5;5A>>1@07=> 8A?>;L7>20BL A@54C @07@01>B:8 Microsoft 

Visual Studio 2008, :0: =081>;55 MDD5:B82=> ?>445@6820NICN 

H01;>=K NX7 Open. �;O NX 8.0 @5:><5=4C5BAO 8A?>;L7>20BL 
Microsoft Visual Studio 2010 8;8 1>;55 ?>74=85 25@A88 

?@>3@0<<=>3> ?@>4C:B0. 
�;O ?>;CG5=8O 4>ABC?0 : <0AB5@C A>740=8O ?>;L7>20B5;LA:8E 
?@>3@0<< 4;O NX 7.5 2 Visual Studio =5>1E>48<> 2K?>;=8BL 
A;54CNI85 459AB28O: 

1. "B:@KBL ?0?:C <vs_files=, :>B>@0O =0E>48BAO 2 
?0?:5 CAB0=>2;5==>3> NX. #> C<>;G0=8N ?CBL : =59: 

C:\Program Files\UGS\NX7.5\UGOPEN\vs_files. 

2. %:>?8@>20BL A>45@68<>5 ?0?:8 <vs_files= 2 :0B0;>3 
Visual Studio. #CBL : :0B0;>3C ?> C<>;G0=8N: C:\Program 

Files\Microsoft Visual Studio 9.0. #@8 :>?8@>20=88 70<5=8BL 
ACI5AB2CNI85 D09;K 8 ?0?:8. 

#@8 70?CA:5 Visual Studio ?>A;5 2K?>;=5=8O 2KH5>?8A0==KE 
459AB289 2 480;>3 A>740=8O ?@>5:B>2 4>102;ONBAO B@8 
«<0AB5@0». $0AA<>B@8< @01>BC A «<0AB5@><» 4;O C# . � :0G5AB25 
B8?0 ?@>5:B>2 2K15@5< C# (@8A. 1.1). � >B:@K2H5<AO A?@020 
<5=N 2K15@5< NX7 Open C# Wizard. �0;55 704048< 8<O 8 ?CBL 
A>E@0=5=8O ?@>5:B0, =06<5< :=>?:C "�. 
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$8A. 1.1.  0AB5@ A>740=8O ?@>5:B0 
 

� >B:@K2H5<AO >:=5 =06<5< :=>?:C Next. � A;54CNI5< >:=5 
(@8A. 1.2) 2K18@05< B8? A>740205<>3> ?@8;>65=8O 8 B8?K 
8A?>;L7C5<KE API. �K15@5< «An internal application that can be 

activated from an NX session» (DLL), GB> A>>B25BAB2C5B A>740=8N 

?@8:;04=>9 ?>4?@>3@0<<K 2 2845 48=0<8G5A:>9 181;8>B5:8. � 
?C=:B5 «UseAPIs» CAB0=>28< 30;>G:8 =0?@>B82 42CE 
?@54;0305<KE 20@80=B>2 8 =06<5< :=>?:C Next. 

� >B:@K2H5<AO >:=5 (@8A. 1.3) 2K15@5< >?F88 703@C7:8 8 
2K3@C7:8 @07@010BK205<>9 181;8>B5:8. �K15@5< 2 :0G5AB25 
>?F88 703@C7:8 «Explicitly (Main)». � :0G5AB25 >?F88 2K3@C7:8 
2K15@5< «Automatically, when the application completes». � 

40==>< A;CG05 181;8>B5:0 1C45B 2K3@C65=0 2<5AB5 A NX. 

�@C385 20@80=BK ?>72>;ONB 2K3@C60BL 181;8>B5:C ?>A;5 
7025@H5=8O 55 @01>BK 8;8 G5@57 A?5F80;L=K9 480;>3. 
#>A;5 7025@H5=8O =0AB@>9:8 =06<5< :=>?:C Finish, ?>A;5 G53> 
>B:@>5BAO >:=> =0?8A0=8O ?@>3@0<<=>3> :>40. 
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$8A. 1.2. �K1>@ B8?0 A>740205<>3> ?@8;>65=8O 8 B8?0 

8A?>;L7C5<KE API 
 

$8A. 1.3. !0AB@>9:0 703@C7:8 8 2K3@C7:8 181;8>B5:8 
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� Visual Studio =0948B5 ?@>F54C@C Main, O2;ONICNAO B>G:>9 

2E>40 70?CA:05<>3> ?@8;>65=8O: 
//   

//Explicit Activation 

//This entry point is used to activate the application explicitly 

//  

public static int Main(string[] args) 

{ 

intretValue = 0; 

try 
{ 

theProgram = new Program(); 

//TODO: Add your application code here 

theProgram.Dispose(); 
} 

catch(NXOpen.NXExceptionex) 

{ 

// ------- Enter your exception handling code here - 

} 

Return retValue; 

} 

�<5AB> AB@>:8 «//TODO: Add your application code here» 
22>48BAO ?@>3@0<<=K9 :>4 20H53> ?@8;>65=8O. 
#@8ABC?8< : A>740=8N ?@8<8B820 «>B@57>:». $0AA<0B@8205<0O 
181;8>B5:0 =0G8=05BAO A> A;54CNI59 :>=AB@C:F88: 
Tag UFPart1; String 

name1 = "1"; Int 

units1 = 1; 

theUfSession.Part.New(name1, units1, out UFPart1); 

 

#5@2K5 B@8 AB@>:8 B5:AB0 ?@8<5=ONBAO 4;O >?8A0=8O 
?5@5<5==KE. � 40==>< :>=B5:AB5 ?5@5<5==0O UFPart1 O2;O5BAO 
45B0;LN (A>7405BAO =>2K9 ?@>5:B), 55 B8? 70405BAO :0: BM3 
(B8?>2>9 >1J5:B NX). name1 - AB@>:>20O ?5@5<5==0O, :>B>@0O 
70405B 8<O D09;0 45B0;8. units1 3 ?5@5<5==0O 



13  

F5;>G8A;5==>3> B8?0, >?@545;ONI0O B8? A8AB5<K <5@ (1 3 
<5B@8G5A:0O A8AB5<0, 2 3 0=3;89A:0O). +5B25@B0O AB@>:0 
>B25G05B 70 A>740=85 =>2>9 45B0;8. #5@5<5==K5 name1 8 units1 

4;O =55 O2;ONBAO 2E>4=K<8, 0 UFPart1 2KE>4=K<8 40==K<8. 
� ?>A;54CNI5< 1;>:5 >?8AK20NBAO 2 >4=>B8?=K5 ?5@5<5==K5, 
A>>B25BAB2CNI85 :>=5G=K< B>G:0< >B@57:0. double[] l1_endpt1 = { 

0, 0, 0.00 }; 
double[] l1_endpt2 = { -100, 0, 0.00 }; 

&8? ?5@5<5==KE 3 <0AA82 25I5AB25==KE G8A5;. �0?>;=5=85 
<0AA82>2 >ACI5AB2;O5BAO B@>9:0<8 G8A5;, O2;ONI8<8AO 
:>>@48=0B0<8 B>G5: 2 3D ?@>AB@0=AB25; :>>@48=0BK 
C:07K20NBAO 2 ?>@O4:5 X, Y, Z. &0: :0: MA:87 ?;>A:89, 
:>>@48=0B0 ?> B@5BL59 >A8 (Z) ?>AB>O==0 (2 40==>< A;CG05 @02=0 
0). 
#>A;54CNI89 1;>: A>7405B =>2CN AB@C:BC@C. 
UFCurve.Line l1 = new UFCurve.Line(); 

%B@C:BC@0 l1 >B=>A8BAO : A?5F80;L=><C B8?C NX, 

A>>B25BAB2CNI5<C B0:><C >1J5:BC, :0: >B@57>:. � 

?>A;54CNI5< D@03<5=B5 ?@>3@0<<=>3> :>40 7040NBAO :>=5G=K5 
B>G:8 >B@57:0. 
 

l1.start_point = new double[3]; 

l1.start_point[0] = l1_endpt1[0]; 

l1.start_point[1] = l1_endpt1[1]; 

l1.start_point[2] = l1_endpt1[2]; 

l1.end_point = new double[3]; 

l1.end_point[0] = l1_endpt2[0]; 

l1.end_point[1] = l1_endpt2[1]; 

l1.end_point[2] = l1_endpt2[2]; 

 

#5@20O AB@>:0 A>7405B <0AA82K 25I5AB25==KE G8A5;, 2 :>B>@K5 
1C4CB 70?8AK20BLAO B@>9:8 :>>@48=0B B>G5: >B@57:0. %B@>:8 2 3 
4 7040NB :>>@48=0BK ?> X, Y, Z =0G0;L=KE B>G5: >B@57:>2. 
%B@>:8 6 3 8 7040NB :>=5G=K5 B>G:8 >B@57:>2. 
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&5:AB, ?@82545==K9 =865, >B25G05B 70 A>740=85 >B@57:0 2 3D-

?@>AB@0=AB25. 
 

Tag[] objarray = new Tag[1]; 

theUfSession.Curve.CreateLine(ref l1, out objarray[0]); 

 

#5@20O AB@>:0 A>7405B ?5@5<5==CN objarray, ?@54AB02;ONICN 
A>1>9 <0AA82 BM3>2. �0640O ?>A;54CNI0O AB@>:0 A>7405B 
>B@57>: 2 3D-?@>AB@0=AB25 A ?>A;54CNI8< 53> >B>1@065=85< =0 
M:@0=5. � :0G5AB25 2E>4=KE 40==KE 8A?>;L7CNBAO :>>@48=0BK 
:>=5G=KE B>G5: >B@57:0. �KE>4=0O 8=D>@<0F8O, 
?@54AB02;ONI0O BM3 :064>3> >B@57:0, 70?8AK205BAO 
?>M;5<5=B=> 2 <0AA82 objarray. 

�;O A>E@0=5=8O @57C;LB0B>2 ?>AB@>5=89 <>6=> 8A?>;L7>20BL 
:><0=4C: 
theUfSession.Part.Save(); - A>E@0=O5B 45B0;L 2 D09; A 8<5=5<, 
7040==K< ?5@5<5==>9 name1, ?> C<>;G0=8N ?CBL : 
A>E@0=5==><C D09;C =0E>48BAO ?> 04@5AC: 
C:\ProgramFiles\UGS\NX7.5\UGII. #@8 A>E@0=5=88 D09;0 <>65B 
?>B@51>20BLAO 53> @CG=>5 C40;5=85 ?@8 ?>2B>@=KE 70?CA:0E 
181;8>B5:8. 
�0;55 =5>1E>48<> >B:><?8;8@>20BL ?@>5:B. �;O MB>3> <>6=> 
2>A?>;L7>20BLAO :;028H59 F6. �A;8 2A5 A45;0=> 25@=>, 2 >:=5 
>H81>: 8 ?@54C?@5645=89 1C45B 2K2545=> A>>1I5=85 >1      
>BACBAB288      >H81>:.  >3CB ?@8ACBAB2>20BL 
?@54C?@5645=8O, =5 ?@5?OBAB2CNI85 =>@<0;L=>9 @01>B5 
?@8;>65=8O, >4=0:> @5:><5=4C5BAO BI0B5;L=> A =8<8 
>7=0:><8BLAO 8 ?> 2>7<>6=>AB8 8E CAB@0=8BL. $57C;LB0B>< 

:><?8;OF88 O2;O5BAO D09; A @0AH8@5=85< .dll 8 8<5=5<, 
7040==K< ?@8 A>740=88 ?@>5:B0. (09; @07<5I05BAO 2 :0B0;>35 
«Debug», @0A?>;>65==>< 2 ?0?:5 «Bin». 
#@8<5@ ?CB8: 
C:\Projects\NX7_Open_CS_Wizard1\NX7_Open_CS_Wizard1\bi 

n\Debug. 

�=8<0=85: NX 7.5 =5 ?>445@68205B @01>BC A 
:8@8;;8G5A:8<8 D09;>2K<8 8<5=0<8, ?>MB><C 2A5 ?CB8 8 
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8<5=0, A :>B>@K<8 @01>B05B NX, 4>;6=K 1KBL 2K?>;=5=K 

8A:;NG8B5;L=> ;0B8=8F59. �;O 70?CA:0 181;8>B5:8 =5>1E>48<> 
703@C78BL NX >B 8<5=8 04<8=8AB@0B>@0, ?>A;5 G53> 2 3;02=>< 

<5=N 2K1@0BL ?>A;54>20B5;L=>ABL :><0=4 
«(09; 3 �K?>;=8BL 3 NX DC=:F8O ?>;L7>20B5;O» 8;8 
2>A?>;L7>20BLAO A>G5B0=85< :;028H Ctrl-U. � 70?CAB82H5<AO 
480;>35 >B:@KB8O D09;0 A;54C5B C:070BL B@51C5<CN 181;8>B5:C 
8 =060BL "�. 
$57C;LB0B 2K?>;=5=8O A>740==>9 @0=55 181;8>B5:8 ?>:070= =0 
@8A. 1.4. 
 

$8A. 1.4 

 

�0;55         @0AA<>B@8<          @8A>20=85          2D-D83C@K 

«?@O<>C3>;L=8:», A>AB>OI59 87 4 >B@57:>2, A>548=5==KE <564C 
A>1>9. !5>1E>48<> >B:@KBL =>2K9 ?@>5:B 8 A>740BL >B@57:8. 
 

//A>740=85 =>2>3> ?@>5:B0 
Tag UFPart1; 

 

string name1 = "rect"; 

int units1 = 1; 
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theUfSession.Part.New(name1, units1, out UFPart1); 

 

double[] l1_endpt1 = { 0, 0, 0.00 }; //=0G0;L=0O B>G:0 
double[] l1_endpt2 = { -100, 0, 0.00 }; //:>=5G=0O B>G:0 
double[] l2_endpt1 = { -100, 0, 0.00 }; 

double[] l2_endpt2 = { -100, 30, 0.00 }; 

double[] l3_endpt1 = { -100, 30, 0.00 }; 

double[] l3_endpt2 = { 0, 30, 0.00 }; 

double[] l4_endpt1 = { 0, 30, 0.00 }; 

double[] l4_endpt2 = { 0, 0, 0.00 }; 

 

UFCurve.Line l1 = new UFCurve.Line(); 

UFCurve.Line l2 = new UFCurve.Line(); 

UFCurve.Line l3 = new UFCurve.Line(); 

UFCurve.Line l4 = new UFCurve.Line(); 

 

l1.start_point = new double[3]; 

l1.start_point[0] = l1_endpt1[0]; 

l1.start_point[1] = l1_endpt1[1]; 

l1.start_point[2] = l1_endpt1[2]; 

l1.end_point = new double[3]; 

l1.end_point[0] = l1_endpt2[0]; 

l1.end_point[1] = l1_endpt2[1]; 

l1.end_point[2] = l1_endpt2[2]; 

l2.start_point = new double[3]; 

l2.start_point[0] = l2_endpt1[0]; 

l2.start_point[1] = l2_endpt1[1]; 

l2.start_point[2] = l2_endpt1[2]; 

l2.end_point = new double[3]; 

l2.end_point[0] = l2_endpt2[0]; 

l2.end_point[1] = l2_endpt2[1]; 

l2.end_point[2] = l2_endpt2[2]; 

l3.start_point = new double[3]; 

l3.start_point[0] = l3_endpt1[0]; 

l3.start_point[1] = l3_endpt1[1]; 

l3.start_point[2] = l3_endpt1[2]; 
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l3.end_point = new double[3]; 

l3.end_point[0] = l3_endpt2[0]; 

l3.end_point[1] = l3_endpt2[1]; 

l3.end_point[2] = l3_endpt2[2]; 

l4.start_point = new double[3]; 

l4.start_point[0] = l4_endpt1[0]; 

l4.start_point[1] = l4_endpt1[1]; 

l4.start_point[2] = l4_endpt1[2]; 

l4.end_point = new double[3]; 

l4.end_point[0] = l4_endpt2[0]; 

l4.end_point[1] = l4_endpt2[1]; 

l4.end_point[2] = l4_endpt2[2]; 

 

Tag[] objarray1 = new Tag[4]; 

 

theUfSession.Curve.CreateLine(ref l1, out objarray1[0]); 

theUfSession.Curve.CreateLine(ref l2, out objarray1[1]); 

theUfSession.Curve.CreateLine(ref l3, out objarray1[2]); 

theUfSession.Curve.CreateLine(ref l4, out objarray1[3]); 

 

%>E@0=8< ?@>5:B, >B:><?8;8@C5< 53> 8 70?CAB8< 2 NX. $57C;LB0B 
2K?>;=5=8O ?@82545= =0 @8A. 1.5. 
 

$8A. 1.5 



18  

&5?5@L >A2>8< >?5@0F8N «2K402;820=85» 4;O A>740=8O 
?0@0;;5;5?8?540. "B:@>5< C65 A>740==K9 8 A>E@0=5==K9 

?@>5:B, 2 :>B>@>< 1K; ?>AB@>5= ?@O<>C3>;L=8:. �=5A5< 2 =53> 
=5A:>;L:> 87<5=5=89 (?@54AB02;5==K9 =865 :>4 2AB02;O5BAO 
?>A;5 A>740=8O ?@O<>C3>;L=8:0). 
 

double[] direction = { 0.0, 0.0, 1.0 }; 

//#5@5<5==0O, 7040NI0O 7=0G5=8O =0?@02;5=8O 2K402;820=8O 
//>AL CZ 

double[] ref_pt = new double[3]; 

//&@51C5<0O, => =5 8A?>;L7C5<0O ?5@5<5==0O 
string taper_angle = "0.0"; 

//#5@5<5==0O, >?@545;ONI0O 7=0G5=85 C:;>=0 ?@8 
//2K402;820=88 
string[] limit = { "0", "80" }; 

//#5@5<5==0O, >?@545;ONI0O   ?0@0<5B@K   =0G0;0   8   :>=F0 
//>?5@0F88 2K402;820=8O 
Tag[] f; 

//f 3 ?5@5<5==0O 4;O 70?8A8 C:070B5;O =0 >1J5:B, 
//?>;CG82H89AO 2 @57C;LB0B5 >?5@0F88 2K402;820=8O 
theUfSession.Modl.CreateExtruded(objarray1, taper_angle, limit, 

ref_pt, direction, FeatureSigns.Nullsign, out f); 
 

 

 

 

 

 
 

z); 

#0@0<5B@K >?5@0F88 «�K402;820=8O»: 
1. objarray - <0AA82 >1J5:B>2 2K402;820=8O; 

2. taper_angle - C3>; C:;>=0; 
3. limit 3 =0G0;> 8 :>=5F 2K402;820=8O; 

4. ref_pt 3 ?CAB>9 ?0@0<5B@; 
5. direction 3 =0?@02;5=85 2K402;820=8O (>AL x,y 8;8 

 

6. FeatureSigns.Nullsign - 70405B 1C;52C >?5@0F8N, 2 
40==>< A;CG05 >?5@0F8O >BACBAB2C5B; 

7. f - 2KE>4=>9 ?0@0<5B@ - C:070B5;L =0 @57C;LB0B 
>?5@0F88. 
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$57C;LB0B 2K?>;=5=8O ?@82545= =0 @8A. 1.6. 
 

$8A. 1.6 

%>74048< ?@8<8B82 «4C30». �;O MB>3> 2 =>2K9 ?@>5:B 2AB028< 

:>4, ?@54AB02;5==K9 =865. 
//A>740=85 =>2>3> ?@>5:B0 
Tag UFPart1; 

string name1 = "rect"; 

int units1 = 1; 
theUfSession.Part.New(name1, units1, out UFPart1); 

Tag[] objarray = new Tag[7]; 

Tag wcs, matrix; 

double[] arc1_centerpt = { 0, 0, 0 }; 

//#5@5<5==0O, A>45@60I0O 7=0G5=8O :>>@48=0B F5=B@0 4C38 
{x,y,z} 

double arc1_start_ang = 0; 

//#5@5<5==0O, A>45@60I0O 7=0G5=85 C3;0 =0G0;0 4C38 (2 
//@0480=0E) 
double arc1_end_ang = 3.14159265358979324 

/*?>;C>:@C6=>ABL*/; 
//#5@5<5==0O, A>45@60I0O 7=0G5=85 C3;0 :>=F0 4C38 (2 
//@0480=0E) 
double arc1_radius = 50; 

//#5@5<5==0O, A>45@60I0O 7=0G5=85 @048CA0 4C38 (2 @0480=0E) 
UFCurve.Arc arc1 = new UFCurve.Arc(); 
arc1.start_angle = arc1_start_ang; 
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//!0G0;L=K9 C3>; arc1.end_angle 

= arc1_end_ang; 
//�>=5G=K9C3>; 
arc1.arc_center = new double[3]; 

//*5=B@ 4C38 1 

arc1.arc_center[0] = arc1_centerpt[0]; 

//�>>@48=0B0 F5=B@0 4C38 ?> X arc1.arc_center[1] 

= arc1_centerpt[1]; 

//�>>@48=0B0 F5=B@0 4C38 ?> Y arc1.arc_center[2] 

= arc1_centerpt[2]; 

//�>>@48=0B0 F5=B@0 4C38 ?> Z 

arc1.radius = arc1_radius; 
//@048CA4C38 

theUfSession.Csys.AskWcs(out wcs); 

//#>;CG5=85 C:070B5;O =0 0:B82=CN A8AB5<C :>>@48=0B 
theUfSession.Csys.AskMatrixOfObject(wcs, out matrix); 

//#>;CG5=85 845=B8D8:0B>@0 <0B@8FK, A2O70==>3> A >1J5:B><, 
//C:070B5;L =0 :>B>@K9 A>45@68BAO 2 wcs 
arc1.matrix_tag = matrix; 
//"?@545;5=85 C:070B5;O <0B@8FK 4C38 

theUfSession.Curve.CreateArc(ref arc1, out objarray[0]); 

//@8A>20=85 4C38 

$57C;LB0B 2K?>;5=5=8O ?@>3@0<<K ?@54AB02;5= =0 @8A. 1.7. 

 

 

 

 

 

 

 

 
$8A. 1.7 



21  

�;O B>3>, GB>1K =0@8A>20BL ?@8<8B82 «H0@», =5>1E>48<> : C65 
A>740==>9 4C35 (?>;C>:@C6=>AB8) ?@8<5=8BL >?5@0F8N 

«2@0I5=85». 
double[] ref_pt = new double[3]; 

ref_pt[0] = 0.00; 

ref_pt[1] = 0.00; 

ref_pt[2] = 0.00; 

double[] direction = { 1.00, 0.00, 0.00 }; 

string[] limit = { "0", "360" }; 

Tag[] f; 

 

theUfSession.Modl.CreateRevolved(objarray, limit, ref_pt, 
direction, FeatureSigns.Nullsign, out f); 

 

%B@>:8 1 3 4 A>740NB <0AA82 87 3 25I5AB25==KE G8A5; 8 

70?>;=ONB 53> =C;O<8. � 40;L=59H5< >= 1C45B 8A?>;L7>20BLAO 
4;O 7040=8O B>G:8 A =C;52K<8 :>>@48=0B0<8, >B=>A8B5;L=> 
:>B>@>9 1C45B >ACI5AB2;OBLAO 2@0I5=85. direction 3 
0=0;>38G=K9 <0AA82 87 B@5E M;5<5=B>2. � 40==>9 ?@>3@0<<5 >= 
>B25G05B 70 25:B>@ (B>G=55 53> :>=5G=CN B>G:C), >B=>A8B5;L=> 
:>B>@>3> >ACI5AB2;O5BAO 2@0I5=85. !0G0;> 25:B>@0 =0E>48BAO 2 
=0G0;5 :>>@48=0B. #5@5<5==0O limit 3 <0AA82 AB@>:>2>3> B8?0, 2 
:>B>@K9 70=>A8BAO =0G0;L=K9 8 :>=5G=K9 C3>; 4;O >?5@0F88 
2@0I5=8O, f 3 <0AA82 BM3>2, 2KE>4=>9 8=D>@<0F88 4;O >?5@0F88 
«2@0I5=85». #>A;54=OO AB@>:0 >B25G05B 70 >?5@0F8N 

«2@0I5=85». 
�@3C<5=B0<8 40==>9 >?5@0F88 O2;ONBAO: 

1. objarray 3 <0AA82 M;5<5=B>2 MA:870 >?5@0F88; 
2. limit 3 =0G0;L=K9 8 :>=5G=K9 C3>; 2@0I5=8O; 
3. ref_pt 3 107>20O B>G:0; 
4. direction 3 25:B>@, >B=>A8B5;L=> :>B>@>3> 

>ACI5AB2;O5BAO 2@0I5=85; 
5. FeatureSigns.Nullsign 3 70405B 1C;52C >?5@0F8N, 2 

40==>< A;CG05 >?5@0F8O >BACBAB2C5B. 
6. f 3 <0AA82 BM3>2, 2KE>4=0O 8=D>@<0F8O 
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$57C;LB0B 2K?>;=5=8O >?5@0F88 ?@54AB02;5= =0 @8A. 1.8. 
 

$8A. 1.8 
 

�;O A>E@0=5=8O 45B0;8 <>6=> 8A?>;L7>20BL: 
theUfSession.Part.Save(); - A>E@0=O5B 45B0;L 2 D09; A 
8<5=5<, 7040==K< ?5@5<5==>9 name1, ?> C<>;G0=8N ?CBL : 
A>E@0=5==><C D09;C =0E>48BAO ?> 04@5AC: 
C:\ProgramFiles\UGS\NX7.5\UGII. 

&5?5@L >A2>8< <5B>48:C ?>AB@>5=8O F8;8=4@0 A ?><>ILN 
>?5@0F88 «2K402;820=8O». �;O MB>3> =5>1E>48<> A>740BL =>2K9 
?@>5:B 8 =0@8A>20BL >:@C6=>ABL. 
//A>740=85 =>2>3> ?@>5:B0 
Tag UFPart1; 

string name1 = "rect"; 
int units1 = 1; 

theUfSession.Part.New(name1, units1, out UFPart1); 

 
 

Tag[] objarray = new Tag[7]; 

Tag wcs, matrix; 

 

double[] arc1_centerpt = { 0, 0, 0 }; 
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//#5@5<5==0O, A>45@60I0O 7=0G5=8O :>>@48=0B F5=B@0 4C38 
//{x,y,z} 

double arc1_start_ang = 0; 

//#5@5<5==0O, A>45@60I0O 7=0G5=85 C3;0 =0G0;0 4C38 (2 
//@0480=0E) 
Double arc1_end_ang = 
3.14159265358979324*2/*>:@C6=>ABL*/; //#5@5<5==0O, 
//A>45@60I0O 7=0G5=85 C3;0 :>=F0 4C38 (2 @0480=0E) 
double arc1_radius = 50; 

//#5@5<5==0O, A>45@60I0O 7=0G5=85 @048CA0 4C38 (2 @0480=0E) 
UFCurve.Arc arc1 = new UFCurve.Arc(); 

arc1.start_angle = arc1_start_ang; 

//!0G0;L=K9 C3>; arc1.end_angle 

= arc1_end_ang; 

//�>=5G=K9 C3>; arc1.arc_center 

= new double[3]; 
//*5=B@4C38 1 

arc1.arc_center[0] = arc1_centerpt[0]; 

//�>>@48=0B0 F5=B@0 4C38 ?> X arc1.arc_center[1] 

= arc1_centerpt[1]; 

//�>>@48=0B0 F5=B@0 4C38 ?> Y arc1.arc_center[2] 

= arc1_centerpt[2]; 

//�>>@48=0B0 F5=B@0 4C38 ?> Z 

arc1.radius = arc1_radius; 
//@048CA 4C38 
 

theUfSession.Csys.AskWcs(out wcs); 

//#>;CG5=8O C:070B5;O =0 0:B82=CN A8AB5<C :>>@48=0B 
theUfSession.Csys.AskMatrixOfObject(wcs, out matrix); 

//#>;CG5=85 845=B8D8:0B>@0 <0B@8FK, A2O70==>3> A >1J5:B><, 
//C:070B5;L =0 :>B>@K9 A>45@68BAO 2 wcs 
arc1.matrix_tag = matrix; 
//"?@545;5=85 C:070B5;O <0B@8FK 4C38 
 

theUfSession.Curve.CreateArc(ref arc1, out objarray[0]); 

//@8A>20=85 4C38 
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$8A. 1.9 

#@8<5=8<   :   A>740==>9   >:@C6=>AB8   C65 7=0:><CN 

>?5@0F8N «2K402;820=8O»: 
double[] direction = { 0.0, 0.0, 1.0 }; 

//#5@5<5==0O, 7040NI0O 7=0G5=8O =0?@02;5=8O 2K402;820=8O 
//>AL CZ 

double[] ref_pt = new double[3]; 

//&@51C5<0O, => =5 8A?>;L7C5<0O ?5@5<5==0O 
string taper_angle = "0.0"; 
//#5@5<5==0O, >?@545;ONI0O 7=0G5=85 C:;>=0 ?@8 
//2K402;820=88 
string[] limit = { "0", "80" }; 

//#5@5<5==0O, >?@545;ONI0O   ?0@0<5B@K   =0G0;0   8   :>=F0 
//>?5@0F88 2K402;820=8O 
Tag[] f; 

//f 3 ?5@5<5==0O 4;O 70?8A8 C:070B5;O =0 >1J5:B, 
//?>;CG82H89AO 2 @57C;LB0B5 >?5@0F88 2K402;820=8O 
theUfSession.Modl.CreateExtruded(objarray, taper_angle, limit, 

ref_pt, direction, FeatureSigns.Nullsign, out f); 

 

$57C;LB0B ?@54AB02;5= =0 @8AC=:5 10. 
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$8A. 1.10 

 >6=> A>740BL F8;8=4@ 8 4@C38< A?>A>1><: >B@8A>20BL 
?@O<>C3>;L=8:, 0 70B5< ?@8<5=8BL : =5<C >?5@0F8N 
«2@0I5=8O». 
 

1.2. �@0:B8G5A:0O G0ABP 

1.2.1. �040=85 =0 ;01>@0B>@=CN @01>BC 

�040=85 2K405BAO ?@5?>4020B5;5< ?> 20@80=B0<. 
�7 ?;>A:>9 35><5B@8G5A:>9 D83C@K, ?@54AB02;5==>9 2 
B01;8F5, ?CB5< «2K402;820=8O», ?>;CG8BL >1J5<=CN D83C@C. 
 

 

�аDиа=т 
�ео<етDичеEкая 

фи7уDа 

У7ол 6Oда6ли6аия 

от=о6ителP=о 

плоEкоEти YOZ 

 

1 

 

 

0
0 

 

2 

 

 
15

0
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3 

 

 

 

10
0
 

 

4 

 

 

20
0
 

 

5 

 

 

 

11
0
 

 

6 

 

 

 

10
0
 

 

7 

 

0 
20

0
 

 

8 

 

 

 

16
0
 

 

9 

 

 

10
0
 

 

10 

 

 

 

17
0
 

 

1.2.2. !>45@60=85 >BG5B0 ?> ;01>@0B>@=>9 @01>B5 
1. !0720=85 8 F5;L @01>BK. 
2. %:@8=H>BK A :@0B:8< >?8A0=85<, 

A>>B25BAB2CNI85 >A=>2=K< H030< 2K?>;=5==>9 @01>BK. 
3. %:@8=H>BK, 45<>=AB@8@CNI85 

@01>B>A?>A1>=>ABL A>740==>9 181;8>B5:8. 
4. �8AB8=3 ?@3@0<<K A :><<5=B0@8O<8. 
5. %:@8=H>BK 3D <>45;8, AD>@<8@>20==>9 �0H59 

181;8>B5:>9. 
6. �K2>4K. 
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2. � ��"�'�!��/  ���"� № 2 

!������� !����/% ������� � NX 

 

*5;L @01>BK: =0CG8BLAO @8A>20BL A;>6=K5 45B0;8 2 NX A 
?><>ILN >?5@0F89 «2@0I5=85», «2K402;820=85», >A2>8BL 
>?5@0F8N «2K@570=85 2@0I5=85<». 
 

2.1. "5>@5B8G5A:0O G0ABP 

2.1.1. �1I89 284 8 ?>@O4>: ?>AB@>5=8O 45B0;8 

�84 A ?>;>65=85< >A59 ?@54AB02;5= =0 @8A. 2.1. 

 

$8A. 2.1 

$07<5@K 2K18@0NBAO ?@>872>;L=>. *8;8=4@ @50;87C5BAO A 
?><>ILN 2@0I5=8O ?@O<>C3>;L=8:0 2>:@C3 A2>59 >A8. 
#>@O4>: A>740=8O 45B0;8: 

 
$8A. 2.2. #5@2K9 H03 
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$8A. 2.3. �B>@>9 H03 

 
$8A. 2.4. &@5B89 H03 

 

$8A. 2.5. +5B25@BK9 H03 
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double[] l1_endpt1 = { 0, 0, 0.00 };//�>>@48=0BK =0G0;L=>9 

//B>G:8 >B@57:0 1 

double[] l1_endpt2 = { -130, 0, 0.00 };//�>>@48=0BK :>=5G=>9 

//B>G:8 >B@57:0 1 

double[] l2_endpt1 = { -130, 0, 0.00 }; 

double[] l2_endpt2 = { -130, 30, 0.00 }; 

double[] l3_endpt1 = { -130, 30, 0.00 }; 

double[] l3_endpt2 = { 0, 30, 0.00 }; 

double[] l4_endpt1 = { 0, 30, 0.00 }; 

double[] l4_endpt2 = { 0, 0, 0.00 }; 

double[] l5_endpt1 = { -20, 0, 0.00 }; 

double[] l5_endpt2 = { -20, 15, 0.00 }; 

double[] l6_endpt1 = { -20, 15, 0.00 }; 

double[] l6_endpt2 = { -110, 15, 0.00 }; 

double[] l7_endpt1 = { -110, 15, 0.00 }; 

double[] l7_endpt2 = { -110, 0, 0.00 }; 

double[] l8_endpt1 = { -110, 0, 0.00 }; 

double[] l8_endpt2 = { -20, 0, 0.00 }; 

double[] l9_endpt1 = { -65, 15, 40 }; 

double[] l9_endpt2 = { -65, 15, 10 }; 

double[] l10_endpt1 = { -65, 15, 10 }; 

double[] l10_endpt2 = { -65, -50, 10 }; 

double[] l11_endpt1 = { -65, -50, 10 }; 

double[] l11_endpt2 = { -65, -50, 40 }; 

double[] l12_endpt1 = { -65, -50, 40 }; 

double[] l12_endpt2 = { -65, 15, 40 }; 

double[] l13_endpt1 = { -65, 15, 40 }; 

double[] l13_endpt2 = { -65, 15, 30 }; 

double[] l14_endpt1 = { -65, 15, 30 }; 

double[] l14_endpt2 = { -65, -50, 30 }; 

double[] l15_endpt1 = { -65, -50, 30 }; 

double[] l15_endpt2 = { -65, -50, 40 }; 

double[] l16_endpt1 = { -65, -50, 40 }; 

double[] l16_endpt2 = { -65, 15, 40 }; 

UFCurve.Line l1 = new UFCurve.Line(); 
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UFCurve.Line l2 = new UFCurve.Line(); 

UFCurve.Line l3 = new UFCurve.Line(); 

UFCurve.Line l4 = new UFCurve.Line(); 

UFCurve.Line l5 = new UFCurve.Line(); 

UFCurve.Line l6 = new UFCurve.Line(); 

UFCurve.Line l7 = new UFCurve.Line(); 

UFCurve.Line l8 = new UFCurve.Line(); 

UFCurve.Line l9 = new UFCurve.Line(); 

UFCurve.Line l10 = new UFCurve.Line(); 

UFCurve.Line l11 = new UFCurve.Line(); 

UFCurve.Line l12 = new UFCurve.Line(); 

UFCurve.Line l13 = new UFCurve.Line(); 

UFCurve.Line l14 = new UFCurve.Line(); 

UFCurve.Line l15 = new UFCurve.Line(); 

UFCurve.Line l16 = new UFCurve.Line(); 

 

l1.start_point = new double[3]; 

l1.start_point[0] = l1_endpt1[0]; 

l1.start_point[1] = l1_endpt1[1]; 

l1.start_point[2] = l1_endpt1[2]; 

l1.end_point = new double[3]; 

l1.end_point[0] = l1_endpt2[0]; 

l1.end_point[1] = l1_endpt2[1]; 

l1.end_point[2] = l1_endpt2[2]; 

l2.start_point = new double[3]; 

l2.start_point[0] = l2_endpt1[0]; 

l2.start_point[1] = l2_endpt1[1]; 

l2.start_point[2] = l2_endpt1[2]; 

l2.end_point = new double[3]; 

l2.end_point[0] = l2_endpt2[0]; 

l2.end_point[1] = l2_endpt2[1]; 

l2.end_point[2] = l2_endpt2[2]; 

l3.start_point = new double[3]; 

l3.start_point[0] = l3_endpt1[0]; 

l3.start_point[1] = l3_endpt1[1]; 

l3.start_point[2] = l3_endpt1[2]; 
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l3.end_point = new double[3]; 

l3.end_point[0] = l3_endpt2[0]; 

l3.end_point[1] = l3_endpt2[1]; 

l3.end_point[2] = l3_endpt2[2]; 

l4.start_point = new double[3]; 

l4.start_point[0] = l4_endpt1[0]; 

l4.start_point[1] = l4_endpt1[1]; 

l4.start_point[2] = l4_endpt1[2]; 

l4.end_point = new double[3]; 

l4.end_point[0] = l4_endpt2[0]; 

l4.end_point[1] = l4_endpt2[1]; 

l4.end_point[2] = l4_endpt2[2]; 

l5.start_point = new double[3]; 

l5.start_point[0] = l5_endpt1[0]; 

l5.start_point[1] = l5_endpt1[1]; 

l5.start_point[2] = l5_endpt1[2]; 

l5.end_point = new double[3]; 

l5.end_point[0] = l5_endpt2[0]; 

l5.end_point[1] = l5_endpt2[1]; 

l5.end_point[2] = l5_endpt2[2]; 

l6.start_point = new double[3]; 

l6.start_point[0] = l6_endpt1[0]; 

l6.start_point[1] = l6_endpt1[1]; 

l6.start_point[2] = l6_endpt1[2]; 

l6.end_point = new double[3]; 

l6.end_point[0] = l6_endpt2[0]; 

l6.end_point[1] = l6_endpt2[1]; 

l6.end_point[2] = l6_endpt2[2]; 

l7.start_point = new double[3]; 

l7.start_point[0] = l7_endpt1[0]; 

l7.start_point[1] = l7_endpt1[1]; 

l7.start_point[2] = l7_endpt1[2]; 

l7.end_point = new double[3]; 

l7.end_point[0] = l7_endpt2[0]; 

l7.end_point[1] = l7_endpt2[1]; 

l7.end_point[2] = l7_endpt2[2]; 
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l8.start_point = new double[3]; 

l8.start_point[0] = l8_endpt1[0]; 

l8.start_point[1] = l8_endpt1[1]; 

l8.start_point[2] = l8_endpt1[2]; 

l8.end_point = new double[3]; 

l8.end_point[0] = l8_endpt2[0]; 

l8.end_point[1] = l8_endpt2[1]; 

l8.end_point[2] = l8_endpt2[2]; 

l9.start_point = new double[3]; 

l9.start_point[0] = l9_endpt1[0]; 

l9.start_point[1] = l9_endpt1[1]; 

l9.start_point[2] = l9_endpt1[2]; 

l9.end_point = new double[3]; 

l9.end_point[0] = l9_endpt2[0]; 

l9.end_point[1] = l9_endpt2[1]; 

l9.end_point[2] = l9_endpt2[2]; 

l10.start_point = new double[3]; 

l10.start_point[0] = l10_endpt1[0]; 

l10.start_point[1] = l10_endpt1[1]; 

l10.start_point[2] = l10_endpt1[2]; 

l10.end_point = new double[3]; 

l10.end_point[0] = l10_endpt2[0]; 

l10.end_point[1] = l10_endpt2[1]; 

l10.end_point[2] = l10_endpt2[2]; 

l11.start_point = new double[3]; 

l11.start_point[0] = l11_endpt1[0]; 

l11.start_point[1] = l11_endpt1[1]; 

l11.start_point[2] = l11_endpt1[2]; 

l11.end_point = new double[3]; 

l11.end_point[0] = l11_endpt2[0]; 

l11.end_point[1] = l11_endpt2[1]; 

l11.end_point[2] = l11_endpt2[2]; 

l12.start_point = new double[3]; 

l12.start_point[0] = l12_endpt1[0]; 

l12.start_point[1] = l12_endpt1[1]; 

l12.start_point[2] = l12_endpt1[2]; 
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l12.end_point = new double[3]; 

l12.end_point[0] = l12_endpt2[0]; 

l12.end_point[1] = l12_endpt2[1]; 

l12.end_point[2] = l12_endpt2[2]; 

l13.start_point = new double[3]; 

l13.start_point[0] = l13_endpt1[0]; 

l13.start_point[1] = l13_endpt1[1]; 

l13.start_point[2] = l13_endpt1[2]; 

l13.end_point = new double[3]; 

l13.end_point[0] = l13_endpt2[0]; 

l13.end_point[1] = l13_endpt2[1]; 

l13.end_point[2] = l13_endpt2[2]; 

l14.start_point = new double[3]; 

l14.start_point[0] = l14_endpt1[0]; 

l14.start_point[1] = l14_endpt1[1]; 

l14.start_point[2] = l14_endpt1[2]; 

l14.end_point = new double[3]; 

l14.end_point[0] = l14_endpt2[0]; 

l14.end_point[1] = l14_endpt2[1]; 

l14.end_point[2] = l14_endpt2[2]; 

l15.start_point = new double[3]; 

l15.start_point[0] = l15_endpt1[0]; 

l15.start_point[1] = l15_endpt1[1]; 

l15.start_point[2] = l15_endpt1[2]; 

l15.end_point = new double[3]; 

l15.end_point[0] = l15_endpt2[0]; 

l15.end_point[1] = l15_endpt2[1]; 

l15.end_point[2] = l15_endpt2[2]; 

l16.start_point = new double[3]; 

l16.start_point[0] = l16_endpt1[0]; 

l16.start_point[1] = l16_endpt1[1]; 

l16.start_point[2] = l16_endpt1[2]; 

l16.end_point = new double[3]; 

l16.end_point[0] = l16_endpt2[0]; 

l16.end_point[1] = l16_endpt2[1]; 

l16.end_point[2] = l16_endpt2[2]; 
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//A>740=85 ?5@2>3> ?@O<>C3>;L=8:0 4;O >A=>20=8O 
Tag[] objarray1 = new Tag[4]; 

theUfSession.Curve.CreateLine(ref l1, out objarray1[0]); 

theUfSession.Curve.CreateLine(ref l2, out objarray1[1]); 

theUfSession.Curve.CreateLine(ref l3, out objarray1[2]); 

theUfSession.Curve.CreateLine(ref l4, out objarray1[3]); 

//A>740=85 2B>@>3> ?@O<>C3>;L=8:0 4;O 2K5<:8 2 >A=>20=88 

Tag[] objarray2 = new Tag[4]; theUfSession.Curve.CreateLine(ref 

l5, out objarray2[0]); theUfSession.Curve.CreateLine(ref l6, out 

objarray2[1]); theUfSession.Curve.CreateLine(ref l7, out 

objarray2[2]); theUfSession.Curve.CreateLine(ref l8, out 

objarray2[3]); 

//A>740=85 ?@O<>C3>;L=8:0 4;O @8A>20=8O F8;8=4@0 
Tag[] objarray3 = new Tag[4]; 

theUfSession.Curve.CreateLine(ref l9, out objarray3[0]); 

theUfSession.Curve.CreateLine(ref l10, out objarray3[1]); 

theUfSession.Curve.CreateLine(ref l11, out objarray3[2]); 

theUfSession.Curve.CreateLine(ref l12, out objarray3[3]); 

//A>740=85 ?@O<>C3>;L=8:0 4;O 2K5<:8 

Tag[] objarray4 = new Tag[4]; 

theUfSession.Curve.CreateLine(ref l13, out objarray4[0]); 

theUfSession.Curve.CreateLine(ref l14, out objarray4[1]); 

theUfSession.Curve.CreateLine(ref l15, out objarray4[2]); 

theUfSession.Curve.CreateLine(ref l16, out objarray4[3]); 

 

//?0@0;;5;5?8?540 4;O >A=>20=8O 
double[] direction1 = { 0.0, 0.0, 1.0 }; 
//#5@5<5==0O, 7040NI0O 7=0G5=8O =0?@02;5=8O 2K402;820=8O 
//>AL CZ 

double[] ref_pt1 = new double[3]; 

//&@51C5<0O, => =5 8A?>;L7C5<0O ?5@5<5==0O 
string taper_angle1 = "0.0"; 

//#5@5<5==0O, >?@545;ONI0O 7=0G5=85 C:;>=0 ?@8 
//2K402;820=88 

string[] limit1 = { "0", "80" }; 
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//#5@5<5==0O, >?@545;ONI0O =0G0;> 8 :>=5F 2K402;820=8O 
Tag[] f1; 

//':070B5;L =0 @57C;LB0B >?5@0F88 

theUfSession.Modl.CreateExtruded(objarray1, taper_angle1, 

limit1, ref_pt1, direction1, FeatureSigns.Nullsign, out f1); 
 

//A>740=85 ?0@0;;5;5?8?540 4;O 2K5<:8 2 >A=>20=88 

double[] direction2 = { 0.0, 0.0, 1.0 }; 
//#5@5<5==0O 7040NI0O 7=0G5=8O =0?@02;5=8O 2K402;820=8O 
//>AL CZ 

double[] ref_pt2 = new double[3]; 

//&@51C5<0O, => =5 8A?>;L7C5<0O ?5@5<5==0O 
string taper_angle2 = "0.0"; 

//#5@5<5==0O, >?@545;ONI0O 7=0G5=85 C:;>=0 ?@8 
//2K402;820=88 

string[] limit2 = { "0", "80" }; 

//#5@5<5==0O, >?@545;ONI0O =0G0;> 8 :>=5F 2K402;820=8O 
Tag[] f2; 

//':070B5;L =0 @57C;LB0B >?5@0F88 2K402;820=8O 
theUfSession.Modl.CreateExtruded(objarray2, taper_angle2, 

limit2, ref_pt2, direction2, FeatureSigns.Negative, out f2); 
 

//2@0I5=8O ?@O<>C3>;L=8:0 4;O A>740=8O F8;8=4@0 
double[] ref_pt3 = new double[3]; 
//7040=85 B>G:8, >B=>A8B5;L=> :>B>@>9 1C45B 2K?>;=OBLAO 
//2@0I5=85 
ref_pt3[0] = -65; 

ref_pt3[1] = 0.00; 

ref_pt3[2] = 40; 

double[] direction3 = { 0.00, 1.00, 0.00 }; 

//=0?@02;5=85 2@0I5=8O 
string[] limit3 = { "0", "360" }; 

//=0G0;L=K9 8 :>=5G=K9 C3>; 2@0I5=8O 
Tag[] f3; 
//C:070B5;L =0 @57C;LB0B >?5@0F88 2@0I5=8O 
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theUfSession.Modl.CreateRevolved(objarray3, limit3, ref_pt3, 

direction3, FeatureSigns.Nullsign, out f3); 

 

//%>740=85 >?5@0F88 "2K@570=8O 2@0I5=85<" 
double[] ref_pt4 = new double[3]; 
ref_pt4[0] = -65; 

ref_pt4[1] = 0.00; 

ref_pt4[2] = 40; 

double[] direction4 = { 0.00, 1.00, 0.00 }; 

string[] limit4 = { "0", "360" }; 
Tag[] f4; 

//#0@0<5B@ FeatureSigns DC=:F88 CreateRevolved 4>;65= 1KBL 
//>?@545;5= :0: Negative (2KG8B0=85) 
theUfSession.Modl.CreateRevolved(objarray4, limit4, ref_pt4, 

direction4, FeatureSigns.Negative, out f4); 

 

2.2. �@0:B8G5A:0O G0ABP 

 

2.2.1. �040=85 =0 ;01>@0B>@=CN @01>BC 

#>;CG8BL A;54CNI85 35><5B@8G5A:85 D83C@K 

 
�аDиа=т �ео<етDичеEкая фи7уDа 

 

 

 

1 
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2 

 

 

 

 

 

3 

 

 

 

 

4 

 

 

 

 

5 
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6 

 

 

 

 

7 

 

 

 

 

8 

 

 

 

 

9 
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10 

 

 

 

2.2.2. !>45@60=85 >BG5B0 ?> ;01>@0B>@=>9 @01>B5 
1. !0720=85 8 F5;L @01>BK. 

2. %:@8=H>BK A :@0B:8< >?8A0=85<, 
A>>B25BAB2CNI85 >A=>2=K< H030< 2K?>;=5==>9 @01>BK. 
3. %:@8=H>BK, 45<>=AB@8@CNI85 @01>B>A?>A1>=>ABL 

A>740==>9 181;8>B5:8. 
4. �8AB8=3 ?@3@0<<K A :><<5=B0@8O<8. 

5. %:@8=H>BK 3D <>45;8, AD>@<8@>20==>9 �0H59 

181;8>B5:>9. 
6. �K2>4K. 
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3. � ��"�'�!��/  ���"� № 3 

!������� �� ���" �'�!�� ������/% 

��.��"�� 

*5;L @01>BK: =0CG8BLAO  ?0@0<5B@8G5A:8 704020BL 
?0@0<5B@K >1J5:B>2,  >A2>8BL >?5@0F88 «A:@C3;5=85» 8 
«@57L10». 

3.1. "5>@5B8G5A:0O G0ABP 

3.1.1. �1I89 284 8 ?>@O4>: ?>AB@>5=8O 45B0;8 

�84 A ?>;>65=85< >A59 ?@54AB02;5= =0 @8A. 3.1. 
 

$8A. 3.1. 3D-<>45;L >1J5:B0 

#C=:B8@=0O >:@C6=>ABL A8=53> F25B0, 87>1@065==0O A =86=53> 
B>@F0 1>;B0, O2;O5BAO >B>1@065=85< @57L1K. 
 

$8A. 3.2. (>@<0 7040=8O ?0@0<5B@>2 1>;B0 
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#>A;5 A>740=8O =>2>3> ?@>5:B0 2 Visual Studio =5>1E>48<> 
4>1028BL 2 =53> D>@<C. �;O MB>3> =C6=> 2 >:=5 Solution Explorer 

?@02>9 :=>?:>9 <KH8 I5;:=CBL ?> =0720=8N ?@>5:B0 8 

2K?>;=8BL ?>A;54>20B5;L=>ABL Add 3 WindowsForm. 

#>A;5 MB>3> A;54C5B 4>1028BL =0 D>@<C =5>1E>48<K5 M;5<5=BK 

C?@02;5=8O 87 >:=0 ToolBox (?0=5;L M;5<5=B>2, =0E>48BAO 2 
;52>9 G0AB8 8=B53@8@>20==>9 A@54K @07@01>B:8 Visual Studio). 

�>1028< B@8 M;5<5=B0 textBox, :>B>@K5 8A?>;L7CNBAO 4;O 22>40 
40==KE, B@8 M;5<5=B0 Label, 8 :=>?:C. 
� >A=>2=>< D09;5 ?@>5:B0 Programm.cs 4>1028< ?@>AB@0=AB2> 
8<5=: 
using System.Collections; 

4;O 8A?>;L7>20=8O >1J5:B0 ArrayList. 

!865 4>1028< ?5@5<5==K5, 7=0G5=8O :>B>@KE 1C4CB 22>48BLAO A 
D>@<K. 
public static double height;//�KA>B0, << 

public static double Radius;//@048CA, << 

public static double step;//H03 @57L1K, << 
 

&0: 1C45B 2K3;O45BL =0G0;> D09;0 Programm.cs: using 

System; 

using NXOpen; using 

NXOpen.UF; 
using System.Collections; 

 

public class Program 

{ 

// class members 

private static Session theSession; 

private static UI theUI; 

private static UFSession theUfSession; 

public static Program theProgram; public 

static bool isDisposeCalled; 
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public static double height;//�KA>B0, << 

public static double Radius;//@048CA, << 

public static double step;//H03@57L1K, << 

 

�2064K I5;:=C2 ?> :=>?:5 =0 D>@<5, A>740ABAO :>4 
>1@01>BG8:0 A>1KB8O =060B8O =0 :=>?:C, 2 =5< 4>1028< 

A;54CNI89 :>4: 
namespace NX7_Open_CS_Wizard6 

{ 

public partial class Form1 : Form 

{ 

public Form1() 

{ 
InitializeComponent(); 

} 
private void button1_Click(object sender, EventArgs e) 

{ 

Program.height = Convert.ToDouble(textBox1.Text); 

Program.Radius = Convert.ToDouble(textBox2.Text); 

Program.step = Convert.ToDouble(textBox3.Text); 

Close(); 

} 

} 

} 

� D09;5 Programm.cs, 2 ?@>F54C@5 Main, ?5@54 :>4><, 

>?8AK20NI8< 35><5B@8G5A:85 ?>AB@>5=8O, =5>1E>48<> 
7040BL :><0=4C >B:@KB8O D>@<K ?@8 70?CA:5 ?@8;>65=8O: 
NX7_Open_CS_Wizard6.Form1 f = new 

NX7_Open_CS_Wizard6.Form1(); 

f.ShowDialog(); 

("1@0B8B5 2=8<0=85 =0 F8D@C 2 :>=F5 8<5=8 ?@>5:B0, :>B@0O 
4>;6=0 A>>B25BAB2>20BL 220H5<C =><5@C ?@>5:B0). 
 

#@8 >B:@KB88 DLL D09;0 2 NX >B:@>5BAO D>@<0, 2 :>B>@CN 

=5>1E>48<> 225AB8 =5>1E>48<K5 7=0G5=8O 8 =060BL 
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=0 :=>?:C. �0;55 1C4CB 8A?>;L7>20BLAO ?5@5<5==K5 height, Radius, 

stepA>45@60I85 22545==K5 7=0G5=8O. 
%>74048< G5BK@5EC3>;L=8: 87 :>B>@>3> 2@0I5=85< 

1C45B A>740= F8;8=4@ (@8A. 3.3). 

//A>740=85 =>2>3> ?@>5:B0 
Tag UFPart1; 

string name1 = "bolt"; 

int units1 = 1; 
theUfSession.Part.New(name1, units1, out UFPart1); 
 

UFCurve.Line segment0 = new UFCurve.Line(); 

UFCurve.Line segment1 = new UFCurve.Line(); 

UFCurve.Line segment2 = new UFCurve.Line(); 

UFCurve.Line segment3 = new UFCurve.Line(); 

 

segment0.start_point = new double[3]; 

segment0.start_point[0] = 0.00; 

segment0.start_point[1] = 0.00; 

segment0.start_point[2] = 0.00; 

segment0.end_point = new double[3]; 

segment0.end_point[0] = 0.00; 

segment0.end_point[1] = 0.00; 

segment0.end_point[2] = height; 

 

segment1.start_point = new double[3]; 

segment1.start_point[0] = 0.00; 

segment1.start_point[1] = 0.00; 

segment1.start_point[2] = height; 

segment1.end_point = new double[3]; 

segment1.end_point[0] = Radius; 

segment1.end_point[1] = 0.00; 

segment1.end_point[2] = height; 

 

segment2.start_point = new double[3]; 

segment2.start_point[0] = Radius; 

segment2.start_point[1] = 0.00; 
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segment2.start_point[2] = height; 

segment2.end_point = new double[3]; 

segment2.end_point[0] = Radius; 

segment2.end_point[1] = 0.00; 

segment2.end_point[2] = 0.00; 

 

segment3.start_point = new double[3]; 

segment3.start_point[0] = Radius; 

segment3.start_point[1] = 0.00; 

segment3.start_point[2] = 0.00; 

segment3.end_point = new double[3]; 

segment3.end_point[0] = 0.00; 
segment3.end_point[1] = 0.00; 

segment3.end_point[2] = 0.00; 

 

Tag[] BoltArray = new Tag[5]; theUfSession.Curve.CreateLine(ref 

segment0, out BoltArray[0]); theUfSession.Curve.CreateLine(ref 

segment1, out BoltArray[1]); theUfSession.Curve.CreateLine(ref 

segment2, out BoltArray[2]); theUfSession.Curve.CreateLine(ref 

segment3, out BoltArray[3]); double[] ref_pt1 = new double[3]; 
ref_pt1[0] = 0.00; 

ref_pt1[1] = 0.00; 

ref_pt1[2] = 0.00; 

 

double[] direction1 = { 0.00, 0.00, 1.00 }; 
string[] limit1 = { "0", "360" }; 

Tag[] features1; theUfSession.Modl.CreateRevolved(BoltArray, 

limit1, ref_pt1, direction1, FeatureSigns.Nullsign, out features1); 
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$8A. 3.3. $57C;LB0B @01>BK ?@>3@0<<=>3> :>40 
 

%>74048< 5Iё >48= G5BK@5EC3>;L=8: =04 F8;84@><, 2@0I0O 
:>B>@K9, ?>;CG8< 703>B>2:C ?>4 «H;O?:C» 1>;B0 (@8A. 3.4). 

"?5@0F8O «2@0I5=85» 2K?>;=8< A ?0@0<5B@>< Positive, GB>1K 

A>548=8BL 425 G0AB8. 
Tag[] features2; 

 

UFCurve.Line segment4 = new UFCurve.Line(); 

UFCurve.Line segment5 = new UFCurve.Line(); 

UFCurve.Line segment6 = new UFCurve.Line(); 

UFCurve.Line segment7 = new UFCurve.Line(); 

 

segment4.start_point = new double[3]; 

segment4.start_point[0] = 0.00; 

segment4.start_point[1] = 0.00; 

segment4.start_point[2] = height; 

segment4.end_point = new double[3]; 

segment4.end_point[0] = Radius * 1.5; 
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segment4.end_point[1] = 0.00; 

segment4.end_point[2] = height; 

 

segment5.start_point = new double[3]; 

segment5.start_point[0] = Radius * 1.5; 

segment5.start_point[1] = 0.00; 

segment5.start_point[2] = height; 

segment5.end_point = new double[3]; 

segment5.end_point[0] = Radius * 1.5; 

segment5.end_point[1] = 0.00; 

segment5.end_point[2] = height * 1.25; 

 

segment6.start_point = new double[3]; 

segment6.start_point[0] = Radius * 1.5; 

segment6.start_point[1] = 0.00; 

segment6.start_point[2] = height * 1.25; 

segment6.end_point = new double[3]; 

segment6.end_point[0] = 0.00; 

segment6.end_point[1] = 0.00; 

segment6.end_point[2] = height * 1.25; 

 

segment7.start_point = new double[3]; 
segment7.start_point[0] = 0.00; 

segment7.start_point[1] = 0.00; 

segment7.start_point[2] = height * 1.25; 

segment7.end_point = new double[3]; 

segment7.end_point[0] = 0.00; 

segment7.end_point[1] = 0.00; 

segment7.end_point[2] = height; 

 

Tag[] BoltArray1 = new Tag[5]; theUfSession.Curve.CreateLine(ref 

segment4, out BoltArray1[0]); theUfSession.Curve.CreateLine(ref 

segment5, out BoltArray1[1]); theUfSession.Curve.CreateLine(ref 

segment6, out BoltArray1[2]); theUfSession.Curve.CreateLine(ref 

segment7, out BoltArray1[3]); 
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double[] ref_pt2 = new double[3]; 

ref_pt1[0] = 0.00; 

ref_pt1[1] = 0.00; 

ref_pt1[2] = height; 

 

double[] direction2 = { 0.00, 0.00, 1.00 }; 

string[] limit2 = { "0", "360" }; 

 

theUfSession.Modl.CreateRevolved(BoltArray1, limit2, ref_pt2, 

direction2, FeatureSigns.Positive, out features2); 

 

 

 

 

 

 

 

 

 

 

 

$8A. 3.4. #>AB@>5==0O ?@>3@0<<=> «H;O?:0» 1>;B0 %;54CNI0O

 :><0=40 8A?>;L7C5BAO 4;O A:@C3;5=8O 
«H;O?:8» 1>;B0 (@8A. 3.5). 
Tag feat1 = features2[0]; 

Tag cyl_tag, obj_id_camf, blend1; 

Tag[] Edge_array_cyl, list1, list2; 

int ecount; 

 

theUfSession.Modl.AskFeatBody(feat1, out cyl_tag); 

theUfSession.Modl.AskBodyEdges(cyl_tag, out 

Edge_array_cyl); 

theUfSession.Modl.AskListCount(Edge_array_cyl, out 
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ecount); 

ArrayList arr_list1 = new ArrayList(); 

ArrayList arr_list2 = new ArrayList(); 

 

for (int ii = 0; ii < ecount; ii++) 

{ 

Tag edge; 

theUfSession.Modl.AskListItem(Edge_array_cyl, ii, out edge); if (ii 

== 2) 

{ 
arr_list2.Add(edge); 

} 

} 

list2 = (Tag[])arr_list2.ToArray(typeof(Tag)); 

 

int allow_smooth = 0; 
int allow_cliff = 0; 

int allow_notch = 0; 
double vrb_tol = 0.0; 

string rad1 = Convert.ToInt32(Radius).ToString(); 

theUfSession.Modl.CreateBlend(rad1, list2, allow_smooth, 

allow_cliff, allow_notch, vrb_tol, out blend1); 
 

$8A. 3.5. %:@C3;5=85 «H;O?:8» 1>;B0 
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&5?5@L =5>1E>48<> 4>1028BL A8<2>;8G5A:CN @57L1C =0 F8;84@ 
<5=LH53> @048CA0. �;O MB>3> 4>1028< A;54CNI89 :>4. 
 

Tag feat = features1[0]; 

Tag[] FeatFaces; 

int FacesCount, FaceType, FaceNormDir; 

Tag face, s_face, c_face, feature_eid; 

double[] point = new double[3]; 

double[] dir = new double[3]; 

double[] box = new double[6]; 

double radius, rad; 

 

s_face = new Tag(); c_face = 

new Tag(); 

 

theUfSession.Modl.AskFeatFaces(feat, out FeatFaces); 
theUfSession.Modl.AskListCount(FeatFaces, out 

FacesCount); 

 

UFModl.SymbThreadData thread = new 

UFModl.SymbThreadData(); 

 

for (int i = 0; i < FacesCount; i++) 

{ 

theUfSession.Modl.AskListItem(FeatFaces, i, out face); 

theUfSession.Modl.AskFaceData(face, out FaceType, 
point, dir, box, out radius, out rad, out FaceNormDir); 

 

if (FaceType == 22) 

{ 
s_face = face; 

//UI.GetUI().NXMessageBox.Show("Message", 

NXMessageBox.DialogType.Information, "Planar face"); 

} 

if (FaceType == 16) 

{ 
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c_face = face; 

//UI.GetUI().NXMessageBox.Show("Message", 

NXMessageBox.DialogType.Information, "Cylindrical face"); 

} 
} 

double[] thread_direction = { 0.00, 0.00, 1.00 }; 

// =0?@02;5=85 @57L1K 

thread.cyl_face = c_face; thread.start_face = 

s_face; thread.axis_direction = thread_direction; 

thread.rotation = 1; 
thread.num_starts = 1; 

thread.length = Convert.ToString(height);// 4;8=0 @57L1K 

thread.form = "Metric";// <5B@8G5A:0O A8AB5<0 thread.major_dia = 

Convert.ToString(2 * Radius); 

//2=5H=89 480<5B@ @57L1K 

thread.minor_dia = Convert.ToString((2 * Radius) -1); 

//2=CB@5==89 480<5B@ @57L1K thread.tapped_dia 

= Convert.ToString(2 * 

Radius);//48<5B@ @57L1K 

thread.pitch = Convert.ToString(step);//H03 @57L1K 

thread.angle = "60";//C3>; @57L1K 
 

try 

 
 

feat); 

 
{ 

theUfSession.Modl.CreateSymbThread(ref thread, out 

 

} 
catch (NXOpen.NXException ex) 

{ 

UI.GetUI().NXMessageBox.Show("Message", 

NXMessageBox.DialogType.Error, ex.Message); 
} 
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$8A. 3.6. %8<2>;8G5A:0O @57L10 =0 F8;84@5 

"AB0;>AL B>;L:> 4>1028BL ?@>@57L ?>4 H;8F52CN >B25@B:C 2 
«H;O?:5», 4;O MB>3> ?>AB@>8< ?@O<>C3>;L=8: =04 H;O?:>9 8 
?@>4028< 53> 2=87 A ?0@0<5B@>< Negative. 

UFCurve.Line segment8 = new UFCurve.Line(); 

UFCurve.Line segment9 = new UFCurve.Line(); 

UFCurve.Line segment10 = new UFCurve.Line(); 

UFCurve.Line segment11 = new UFCurve.Line(); 

segment8.start_point = new double[3]; 

segment8.start_point[0] = Radius * 1.5; 

segment8.start_point[1] = Radius * 0.2; 

segment8.start_point[2] = height * 1.25; 

segment8.end_point = new double[3]; 

segment8.end_point[0] = Radius * 1.5; 

segment8.end_point[1] = -(Radius * 0.2); 

segment8.end_point[2] = height * 1.25; 

segment9.start_point = new double[3]; 

segment9.start_point[0] = Radius * 1.5; 
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segment9.start_point[1] = -(Radius * 0.2); 

segment9.start_point[2] = height * 1.25; 

segment9.end_point = new double[3]; 

segment9.end_point[0] = -(Radius * 1.5); 

segment9.end_point[1] = -(Radius * 0.2); 

segment9.end_point[2] = height * 1.25; 

segment10.start_point = new double[3]; 

segment10.start_point[0] = -(Radius * 1.5); 

segment10.start_point[1] = -(Radius * 0.2); 

segment10.start_point[2] = height * 1.25; 

segment10.end_point = new double[3]; 

segment10.end_point[0] = -(Radius * 1.5); 

segment10.end_point[1] = Radius * 0.2; 

segment10.end_point[2] = height * 1.25; 

segment11.start_point = new double[3]; 

segment11.start_point[0] = -(Radius * 1.5); 

segment11.start_point[1] = Radius * 0.2; 

segment11.start_point[2] = height * 1.25; 

segment11.end_point = new double[3]; 

segment11.end_point[0] = Radius * 1.5; 

segment11.end_point[1] = Radius * 0.2; 

segment11.end_point[2] = height * 1.25; 

Tag[] BoltArray2 = new Tag[5]; theUfSession.Curve.CreateLine(ref 

segment8, out BoltArray2[0]); theUfSession.Curve.CreateLine(ref 

segment9, out BoltArray2[1]); theUfSession.Curve.CreateLine(ref 

segment10, out BoltArray2[2]); 

theUfSession.Curve.CreateLine(ref segment11, out 

BoltArray2[3]); 

string glub = Convert.ToInt32(height * 0.125).ToString(); 
string taper_angle = "0.0"; 

string[] limit3 = { "0", glub }; 

double[] ref_pt3 = new double[3]; 
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double[] direction3 = { 0.0, 0.0, -1.0 }; 

theUfSession.Modl.CreateExtruded(BoltArray2, taper_angle, 

limit3, ref_pt3, direction3,FeatureSigns.Negative, out features2); 
 

$8A. 3.7. �>102;5==0O ?@>@57L =0 «H;O?:5» 

3.2. �@0:B8G5A:0O G0ABP 

3.2.1. �040=85 =0 ;01>@0B>@=CN @01>BC 

#>;CG8BL A;54CNI85 >1J5:BK 1>;B>2. 
�аDиа=т, 7ео<етDичеEкая фи7уDа 

1. 6. 

  

2. 7. 
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3. 8. 
 

 
 

4. 9. 

 

 

 

5. 10. 

 

 

 

 

3.2.2. !>45@60=85 >BG5B0 ?> ;01>@0B>@=>9 @01>B5 
 

1. !0720=85 8 F5;L @01>BK. 
2. %:@8=H>BK A :@0B:8< >?8A0=85<, A>>B25BAB2CNI85 

>A=>2=K< H030< 2K?>;=5==>9 @01>BK. 
3. %:@8=H>BK, 45<>=AB@8@CNI85 @01>B>A?>A1>=>ABL 

A>740==>9 181;8>B5:8. 
4. �8AB8=3 ?@3@0<<K A :><<5=B0@8O<8. 
5. %:@8=H>BK 3D-<>45;8, AD>@<8@>20==>9 �0H59 

181;8>B5:>9. 
6. �K2>4K. 
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4. � ��"�'�!��/  ���"� № 4 

!������� !�� �� ���!" #�&�� 

�� �"���0�/% ��"���� 

*5;L @01>BK: >A2>5=85 <5B>48:8 @07<5I5=8O <>45;59 45B0;59 2 
01A>;NB=>9 A8AB5<5 :>>@48=0B ?@>AB@0=AB20 A1>@>G=>9 <>45;8, 
>A2>5=85 >?5@0F88 «D0A:0». 

4.1. "5>@5B8G5A:0O G0ABP 

� 40==>9 ;01>@0B>@=>9 @01>B5 ?@54;0305BAO 2K?>;=8BL 
A1>@>G=CN <>45;L D8;LB@0, ?@54AB02;5==CN =0 @8A. 4.1. &0:8< 

>1@07><, 45B0;L ?@8>1@5B05B :>=5G=K9 284. 
 

$8A. 4.1. %1>@>G=0O <>45;L D8;LB@0 

#@82545< ?>4@>1=>5 >?8A0=85 ?@>3@0<<=>9 @50;870F88 

?>AB@>5=8O A1>@>G=>9 3D-<>45;8. 
 >45;L A>AB>8B 87 B@5E 45B0;59 (:>@?CA, :@KH:0, D8;LB@CNI89 
M;5<5=B), :0640O 87 :>B>@KE >D>@<;O5BAO :0: >B45;L=K9 
4>:C<5=B. !0 7025@H0NI5< MB0?5 ?@>872>48BAO A1>@:0 2A5E 
45B0;59 2 >4=> 8745;85. �A5 45B0;8 =0 <><5=B >ACI5AB2;5=8O 
A1>@:8, <>3CB 1KBL A>E@0=5=K 2 D09;K =0 48A:5 8;8 1KBL 
?@54AB02;5==K<8 2 2845 >B:@KBKE ?@>5:B>2. 
� =0G0;5 ?@>3@0<<K A>74048< =>2CN <>45;L - :>@?CA 4;O 
D8;LB@0, :>B>@0O ?@54AB02;5=0 =0 @8A. 4.2. 
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$8A. 4.2. �>@?CA 4;O D8;LB@0 
 

Tag UFPart1; 

string name1 = "Korpus"; 
int units1 = 1; 

theUfSession.Part.New(name1, units1, out UFPart1); 

 
double[] l1_endpt1 = { 0, 0, 0.00 }; 

double[] l1_endpt2 = { 32.5, 0, 0.00 }; 

 

double[] l2_endpt1 = { 32.5, 0, 0.00 }; 

double[] l2_endpt2 = { 32.5, 170, 0.00 }; 

 

double[] l3_endpt1 = { 32.5, 170, 0.00 }; 

double[] l3_endpt2 = { 45, 185, 0.00 }; 

 

double[] l4_endpt1 = { 45, 185, 0.00 }; 

double[] l4_endpt2 = { 45, 225, 0.00 }; 

 

double[] l5_endpt1 = { 45, 225, 0.00 }; 

double[] l5_endpt2 = { 0, 225, 0.00 }; 

 

double[] l6_endpt1 = { 0, 225, 0.00 }; 

double[] l6_endpt2 = { 0, 0, 0.00 }; 

 

UFCurve.Line line1 = new UFCurve.Line(); 
UFCurve.Line line2 = new UFCurve.Line(); 
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UFCurve.Line line3 = new UFCurve.Line(); 

UFCurve.Line line4 = new UFCurve.Line(); 

UFCurve.Line line5 = new UFCurve.Line(); 

UFCurve.Line line6 = new UFCurve.Line(); 

 

line1.start_point = new double[3]; 

line1.start_point[0] = l1_endpt1[0]; 

line1.start_point[1] = l1_endpt1[1]; 

line1.start_point[2] = l1_endpt1[2]; 

line1.end_point = new double[3]; 

line1.end_point[0] = l1_endpt2[0]; 

line1.end_point[1] = l1_endpt2[1]; 

line1.end_point[2] = l1_endpt2[2]; 

line2.start_point = new double[3]; 

line2.start_point[0] = l2_endpt1[0]; 

line2.start_point[1] = l2_endpt1[1]; 

line2.start_point[2] = l2_endpt1[2]; 

line2.end_point = new double[3]; 

line2.end_point[0] = l2_endpt2[0]; 

line2.end_point[1] = l2_endpt2[1]; 

line2.end_point[2] = l2_endpt2[2]; 

line3.start_point = new double[3]; 

line3.start_point[0] = l3_endpt1[0]; 

line3.start_point[1] = l3_endpt1[1]; 

line3.start_point[2] = l3_endpt1[2]; 

line3.end_point = new double[3]; 

line3.end_point[0] = l3_endpt2[0]; 

line3.end_point[1] = l3_endpt2[1]; 

line3.end_point[2] = l3_endpt2[2]; 

line4.start_point = new double[3]; 

line4.start_point[0] = l4_endpt1[0]; 

line4.start_point[1] = l4_endpt1[1]; 

line4.start_point[2] = l4_endpt1[2]; 

line4.end_point = new double[3]; 

line4.end_point[0] = l4_endpt2[0]; 

line4.end_point[1] = l4_endpt2[1]; 
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line4.end_point[2] = l4_endpt2[2]; 

line5.start_point = new double[3]; 

line5.start_point[0] = l5_endpt1[0]; 

line5.start_point[1] = l5_endpt1[1]; 

line5.start_point[2] = l5_endpt1[2]; 

line5.end_point = new double[3]; 

line5.end_point[0] = l5_endpt2[0]; 

line5.end_point[1] = l5_endpt2[1]; 

line5.end_point[2] = l5_endpt2[2]; 

line6.start_point = new double[3]; 

line6.start_point[0] = l6_endpt1[0]; 

line6.start_point[1] = l6_endpt1[1]; 

line6.start_point[2] = l6_endpt1[2]; 

line6.end_point = new double[3]; 

line6.end_point[0] = l6_endpt2[0]; 

line6.end_point[1] = l6_endpt2[1]; 

line6.end_point[2] = l6_endpt2[2]; 

 

Tag[] objarray1 = new Tag[7]; 

theUfSession.Curve.CreateLine(ref line1, out objarray1[0]); 

theUfSession.Curve.CreateLine(ref line2, out objarray1[1]); 

theUfSession.Curve.CreateLine(ref line3, out objarray1[2]); 

theUfSession.Curve.CreateLine(ref line4, out objarray1[3]); 

theUfSession.Curve.CreateLine(ref line5, out objarray1[4]); 

theUfSession.Curve.CreateLine(ref line6, out objarray1[5]); 

 

double[] ref_pt1 = new double[3]; 

ref_pt1[0] = 0.00; 
ref_pt1[1] = 0.00; 

ref_pt1[2] = 0.00; 

double[] direction1 = { 0.00, 1.00, 0.00 }; 

string[] limit1 = { "0", "360" }; 
Tag[] features1; 

 

theUfSession.Modl.CreateRevolved(objarray1, limit1, 

ref_pt1, direction1, FeatureSigns.Nullsign, out features1); 
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/////////////////////////////////////////// 

 

double[] l13_endpt1 = { -70, 205, 0.00 }; 

double[] l13_endpt2 = { -20, 205, 0.00 }; 

 

double[] l14_endpt1 = l13_endpt2; 

double[] l14_endpt2 = { -20, 215, 0.00 }; 

 

double[] l15_endpt1 = l14_endpt2; 

double[] l15_endpt2 = { -70, 215, 0.00 }; 

 

double[] l16_endpt1 = l15_endpt2; 
double[] l16_endpt2 = { -70, 205, 0.00 }; 

 

UFCurve.Line line13 = new UFCurve.Line(); 

UFCurve.Line line14 = new UFCurve.Line(); 

UFCurve.Line line15 = new UFCurve.Line(); 

UFCurve.Line line16 = new UFCurve.Line(); 

 

line13.start_point = new double[3]; 

line13.start_point[0] = l13_endpt1[0]; 

line13.start_point[1] = l13_endpt1[1]; 

line13.start_point[2] = l13_endpt1[2]; 

line13.end_point = new double[3]; 

line13.end_point[0] = l13_endpt2[0]; 

line13.end_point[1] = l13_endpt2[1]; 

line13.end_point[2] = l13_endpt2[2]; 

line14.start_point = new double[3]; 

line14.start_point[0] = l14_endpt1[0]; 

line14.start_point[1] = l14_endpt1[1]; 

line14.start_point[2] = l14_endpt1[2]; 

line14.end_point = new double[3]; 

line14.end_point[0] = l14_endpt2[0]; 

line14.end_point[1] = l14_endpt2[1]; 

line14.end_point[2] = l14_endpt2[2]; 

line15.start_point = new double[3]; 
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line15.start_point[0] = l15_endpt1[0]; 

line15.start_point[1] = l15_endpt1[1]; 

line15.start_point[2] = l15_endpt1[2]; 

line15.end_point = new double[3]; 

line15.end_point[0] = l15_endpt2[0]; 

line15.end_point[1] = l15_endpt2[1]; 

line15.end_point[2] = l15_endpt2[2]; 

line16.start_point = new double[3]; 

line16.start_point[0] = l16_endpt1[0]; 

line16.start_point[1] = l16_endpt1[1]; 

line16.start_point[2] = l16_endpt1[2]; 

line16.end_point = new double[3]; 

line16.end_point[0] = l16_endpt2[0]; 

line16.end_point[1] = l16_endpt2[1]; 

line16.end_point[2] = l16_endpt2[2]; 

 

Tag[] objarray3 = new Tag[7]; 

theUfSession.Curve.CreateLine(ref line13, out objarray3[0]); 

theUfSession.Curve.CreateLine(ref line14, out objarray3[1]); 

theUfSession.Curve.CreateLine(ref line15, out objarray3[2]); 

theUfSession.Curve.CreateLine(ref line16, out objarray3[3]); 

double[] ref_pt2 = new double[3]; 

ref_pt2[0] = -50.00; 

ref_pt2[1] = 205.00; 

ref_pt2[2] = 0.00; 

double[] direction2 = { 1.00, 0.00, 0.00 }; 

theUfSession.Modl.CreateRevolved(objarray3, limit1, 

ref_pt2, direction2, FeatureSigns.Positive, out features1); 

 

/////////////////////////////////////////// 
double[] l7_endpt1 = { 0, 5, 0.00 }; 

double[] l7_endpt2 = { 27.5, 5, 0.00 }; 

 

double[] l8_endpt1 = l7_endpt2; double[] 

l8_endpt2 = { 27.5, 170, 0.00 }; 
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double[] l9_endpt1 = l8_endpt2; double[] 

l9_endpt2 = { 40, 185, 0.00 }; 

 

double[] l10_endpt1 = l9_endpt2; double[] 

l10_endpt2 = { 40, 225, 0.00 }; 

 

double[] l11_endpt1 = l10_endpt2; 

double[] l11_endpt2 = { 0, 225, 0.00 }; 

 

double[] l12_endpt1 = l11_endpt2; 

double[] l12_endpt2 = { 0, 5, 0.00 }; 

 

UFCurve.Line line7 = new UFCurve.Line(); 

UFCurve.Line line8 = new UFCurve.Line(); 

UFCurve.Line line9 = new UFCurve.Line(); 

UFCurve.Line line10 = new UFCurve.Line(); 

UFCurve.Line line11 = new UFCurve.Line(); 

UFCurve.Line line12 = new UFCurve.Line(); 

 

line7.start_point = new double[3]; 

line7.start_point[0] = l7_endpt1[0]; 

line7.start_point[1] = l7_endpt1[1]; 

line7.start_point[2] = l7_endpt1[2]; 

line7.end_point = new double[3]; 

line7.end_point[0] = l7_endpt2[0]; 

line7.end_point[1] = l7_endpt2[1]; 

line7.end_point[2] = l7_endpt2[2]; 

line8.start_point = new double[3]; 

line8.start_point[0] = l8_endpt1[0]; 

line8.start_point[1] = l8_endpt1[1]; 

line8.start_point[2] = l8_endpt1[2]; 

line8.end_point = new double[3]; 

line8.end_point[0] = l8_endpt2[0]; 

line8.end_point[1] = l8_endpt2[1]; 

line8.end_point[2] = l8_endpt2[2]; 

line9.start_point = new double[3]; 
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line9.start_point[0] = l9_endpt1[0]; 

line9.start_point[1] = l9_endpt1[1]; 

line9.start_point[2] = l9_endpt1[2]; 

line9.end_point = new double[3]; 

line9.end_point[0] = l9_endpt2[0]; 

line9.end_point[1] = l9_endpt2[1]; 

line9.end_point[2] = l9_endpt2[2]; 

line10.start_point = new double[3]; 

line10.start_point[0] = l10_endpt1[0]; 

line10.start_point[1] = l10_endpt1[1]; 

line10.start_point[2] = l10_endpt1[2]; 

line10.end_point = new double[3]; 

line10.end_point[0] = l10_endpt2[0]; 

line10.end_point[1] = l10_endpt2[1]; 

line10.end_point[2] = l10_endpt2[2]; 

line11.start_point = new double[3]; 

line11.start_point[0] = l11_endpt1[0]; 

line11.start_point[1] = l11_endpt1[1]; 

line11.start_point[2] = l11_endpt1[2]; 

line11.end_point = new double[3]; 

line11.end_point[0] = l11_endpt2[0]; 

line11.end_point[1] = l11_endpt2[1]; 

line11.end_point[2] = l11_endpt2[2]; 

line12.start_point = new double[3]; 

line12.start_point[0] = l12_endpt1[0]; 

line12.start_point[1] = l12_endpt1[1]; 

line12.start_point[2] = l12_endpt1[2]; 

line12.end_point = new double[3]; 

line12.end_point[0] = l12_endpt2[0]; 

line12.end_point[1] = l12_endpt2[1]; 

line12.end_point[2] = l12_endpt2[2]; 

 

Tag[] objarray2 = new Tag[7]; 

theUfSession.Curve.CreateLine(ref line7, out objarray2[0]); 

theUfSession.Curve.CreateLine(ref line8, out objarray2[1]); 

theUfSession.Curve.CreateLine(ref line9, out objarray2[2]); 
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theUfSession.Curve.CreateLine(ref line10, out objarray2[3]); 

theUfSession.Curve.CreateLine(ref line11, out objarray2[4]); 

theUfSession.Curve.CreateLine(ref line12, out objarray2[5]); 

 

theUfSession.Modl.CreateRevolved(objarray2, limit1, ref_pt1, 

direction1, FeatureSigns.Negative, out features1); 

 

double[] l17_endpt1 = { -70, 205, 0.00 }; 

double[] l17_endpt2 = { -20, 205, 0.00 }; 

 

double[] l18_endpt1 = l17_endpt2; 

double[] l18_endpt2 = { -20, 213, 0.00 }; 

 

double[] l19_endpt1 = l18_endpt2; 

double[] l19_endpt2 = { -70, 213, 0.00 }; 
 

double[] l20_endpt1 = l19_endpt2; 

double[] l20_endpt2 = { -70, 205, 0.00 }; 

 

UFCurve.Line line17 = new UFCurve.Line(); 

UFCurve.Line line18 = new UFCurve.Line(); 

UFCurve.Line line19 = new UFCurve.Line(); 

UFCurve.Line line20 = new UFCurve.Line(); 

 

line17.start_point = new double[3]; 

line17.start_point[0] = l17_endpt1[0]; 

line17.start_point[1] = l17_endpt1[1]; 

line17.start_point[2] = l17_endpt1[2]; 

line17.end_point = new double[3]; 

line17.end_point[0] = l17_endpt2[0]; 

line17.end_point[1] = l17_endpt2[1]; 

line17.end_point[2] = l17_endpt2[2]; 

line18.start_point = new double[3]; 

line18.start_point[0] = l18_endpt1[0]; 

line18.start_point[1] = l18_endpt1[1]; 

line18.start_point[2] = l18_endpt1[2]; 
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line18.end_point = new double[3]; 

line18.end_point[0] = l18_endpt2[0]; 

line18.end_point[1] = l18_endpt2[1]; 

line18.end_point[2] = l18_endpt2[2]; 

line19.start_point = new double[3]; 

line19.start_point[0] = l19_endpt1[0]; 

line19.start_point[1] = l19_endpt1[1]; 

line19.start_point[2] = l19_endpt1[2]; 

line19.end_point = new double[3]; 

line19.end_point[0] = l19_endpt2[0]; 

line19.end_point[1] = l19_endpt2[1]; 

line19.end_point[2] = l19_endpt2[2]; 

line20.start_point = new double[3]; 

line20.start_point[0] = l20_endpt1[0]; 

line20.start_point[1] = l20_endpt1[1]; 

line20.start_point[2] = l20_endpt1[2]; 

line20.end_point = new double[3]; 

line20.end_point[0] = l20_endpt2[0]; 

line20.end_point[1] = l20_endpt2[1]; 

line20.end_point[2] = l20_endpt2[2]; 

 

Tag[] objarray4 = new Tag[7]; 

theUfSession.Curve.CreateLine(ref line17, out objarray4[0]); 

theUfSession.Curve.CreateLine(ref line18, out objarray4[1]); 

theUfSession.Curve.CreateLine(ref line19, out objarray4[2]); 

theUfSession.Curve.CreateLine(ref line20, out objarray4[3]); 

 

theUfSession.Modl.CreateRevolved(objarray4, limit1, ref_pt2, 
direction2, FeatureSigns.Negative, out features1); 

 

�0;55 ?@8ABC?8< : A>740=8N :@KH:8 4;O D8;LB@0. �5 >1I89 
284 ?@54AB02;5= =0 @8A. 4.3-4.4. 
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$8A. 4.3. �84 1 :@KH:8 4;O D8;LB@0 

$8A. 4.4. �84 2 :@KH:8 4;O D8;LB@0 
Tag UFPart1; 

string name1 = "Krishka"; 

int units1 = 1; 

theUfSession.Part.New(name1, units1, out UFPart1); 

double[] l1_endpt1 = { 0, 0, 0.00 }; 

double[] l1_endpt2 = { 40, 0, 0.00 }; 

double[] l2_endpt1 = l1_endpt2; 

double[] l2_endpt2 = { 40, 5, 0.00 }; 
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double[] l3_endpt1 = l2_endpt2; 

double[] l3_endpt2 = { 45, 5, 0.00 }; 

 

double[] l4_endpt1 = l3_endpt2; 

double[] l4_endpt2 = { 45, 10, 0.00 }; 

 

double[] l5_endpt1 = l4_endpt2; 

double[] l5_endpt2 = { 0, 10, 0.00 }; 

 

double[] l6_endpt1 = l5_endpt2; 

double[] l6_endpt2 = { 0, 0, 0.00 }; 

 

UFCurve.Line line1 = new UFCurve.Line(); 

UFCurve.Line line2 = new UFCurve.Line(); 

UFCurve.Line line3 = new UFCurve.Line(); 

UFCurve.Line line4 = new UFCurve.Line(); 

UFCurve.Line line5 = new UFCurve.Line(); 

UFCurve.Line line6 = new UFCurve.Line(); 

 

line1.start_point = new double[3]; 

line1.start_point[0] = l1_endpt1[0]; 

line1.start_point[1] = l1_endpt1[1]; 

line1.start_point[2] = l1_endpt1[2]; 

line1.end_point = new double[3]; 

line1.end_point[0] = l1_endpt2[0]; 

line1.end_point[1] = l1_endpt2[1]; 

line1.end_point[2] = l1_endpt2[2]; 

line2.start_point = new double[3]; 

line2.start_point[0] = l2_endpt1[0]; 

line2.start_point[1] = l2_endpt1[1]; 

line2.start_point[2] = l2_endpt1[2]; 

line2.end_point = new double[3]; 

line2.end_point[0] = l2_endpt2[0]; 

line2.end_point[1] = l2_endpt2[1]; 

line2.end_point[2] = l2_endpt2[2]; 

line3.start_point = new double[3]; 
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line3.start_point[0] = l3_endpt1[0]; 

line3.start_point[1] = l3_endpt1[1]; 

line3.start_point[2] = l3_endpt1[2]; 

line3.end_point = new double[3]; 

line3.end_point[0] = l3_endpt2[0]; 

line3.end_point[1] = l3_endpt2[1]; 

line3.end_point[2] = l3_endpt2[2]; 

line4.start_point = new double[3]; 

line4.start_point[0] = l4_endpt1[0]; 

line4.start_point[1] = l4_endpt1[1]; 

line4.start_point[2] = l4_endpt1[2]; 

line4.end_point = new double[3]; 

line4.end_point[0] = l4_endpt2[0]; 

line4.end_point[1] = l4_endpt2[1]; 

line4.end_point[2] = l4_endpt2[2]; 

line5.start_point = new double[3]; 

line5.start_point[0] = l5_endpt1[0]; 

line5.start_point[1] = l5_endpt1[1]; 

line5.start_point[2] = l5_endpt1[2]; 

line5.end_point = new double[3]; 

line5.end_point[0] = l5_endpt2[0]; 

line5.end_point[1] = l5_endpt2[1]; 

line5.end_point[2] = l5_endpt2[2]; 

line6.start_point = new double[3]; 

line6.start_point[0] = l6_endpt1[0]; 

line6.start_point[1] = l6_endpt1[1]; 

line6.start_point[2] = l6_endpt1[2]; 

line6.end_point = new double[3]; 

line6.end_point[0] = l6_endpt2[0]; 

line6.end_point[1] = l6_endpt2[1]; 

line6.end_point[2] = l6_endpt2[2]; 

 

Tag[] objarray1 = new Tag[7]; 

theUfSession.Curve.CreateLine(ref line1, out objarray1[0]); 

theUfSession.Curve.CreateLine(ref line2, out objarray1[1]); 

theUfSession.Curve.CreateLine(ref line3, out objarray1[2]); 
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theUfSession.Curve.CreateLine(ref line4, out objarray1[3]); 

theUfSession.Curve.CreateLine(ref line5, out objarray1[4]); 

theUfSession.Curve.CreateLine(ref line6, out objarray1[5]); 

 

double[] ref_pt1 = new double[3]; 

ref_pt1[0] = 0.00; 
ref_pt1[1] = 0.00; 

ref_pt1[2] = 0.00; 

double[] direction1 = { 0.00, 1.00, 0.00 }; 

string[] limit1 = { "0", "360" }; 
Tag[] features1; 

 

theUfSession.Modl.CreateRevolved(objarray1, limit1, 

ref_pt1, direction1, FeatureSigns.Nullsign, out features1); 

 

//////////////////////// 

// %>740=85 D0A:8 
Tag feat = features1[0]; 

Tag cyl_tag, obj_id_camf, blend1; 

Tag[] Edge_array_cyl, list1, list2; 

 

//87 <0AA820 BM3>2 features1 2K18@05BAO =C;52>9 BM3, :>B>@K9 
//70?8AK205BAO 2 ?5@5<5==CN feat, B5?5@L 2 ?5@5<5==>9 feat 

//=0E>48BAO BM3 =C;52>3> B5;0 45B0;8 
int ecount; 

//1;>:, :>B>@K9 0=0;878@C5B @51@0 @0AA<0B@8205<>9 45B0;8 

theUfSession.Modl.AskFeatBody(feat, out cyl_tag); 

theUfSession.Modl.AskBodyEdges(cyl_tag, out Edge_array_cyl); 

theUfSession.Modl.AskListCount(Edge_array_cyl, out ecount); 

 

// #5@2K9 >1J5:B 2 40;L=59H5< 1C45B 8A?>;L7>20= 4;O 
//A>E@0=5=8O 2 =53> @515@, =0 :>B>@KE 1C4CB 2K?>;=5=K 

//D0A:8, 2B>@>9 ?> 0=0;>388 8A?>;L7C5BAO 4;O A:@C3;5=8O ArrayList 

arr_list1 = new ArrayList(); 
ArrayList arr_list2 = new ArrayList(); 
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//F8:; ?>2B>@O5BAO :>;8G5AB2> @07, @02=>5 G8A;C @515@ 
//@0AA<0B@8205<>3> B5;0 
for (int ii = 0; ii < ecount; ii++) 

{ 
Tag edge; 

theUfSession.Modl.AskListItem(Edge_array_cyl, ii, out edge); 

//2K18@05B 87 <0AA820 @515@ :064>5 >B45;L=>5 @51@> A 
//?>@O4:>2K< =><5@>< 2 <0AA825 ii if 
((ii == 2 )) 

{ 

arr_list1.Add(edge); //@51@> 4>102;O5BAO 2 arr_list1 (B> 5ABL 
//=0 =5< 1C45B A>740=0 D0A:0 
} 

} 

//:>=25@B8@>20=85 B8?>2 40==KE 
list1 = (Tag[])arr_list1.ToArray(typeof(Tag)); 

list2 = (Tag[])arr_list2.ToArray(typeof(Tag)); 

 

//?0@0<5B@K, 7040NI85 >?5@0F8N "D0A:0" 
string offset1 = "1"; 

string offset2 = "1"; 

string ang = "45"; 

theUfSession.Modl.CreateChamfer(3, offset1, offset2, ang, 

list1, out obj_id_camf); //>?5@0F8O "D0A:0" 

double[] l13_endpt1 = { 0, -55, 0.00 }; 

double[] l13_endpt2 = { 10, -55, 0.00 }; 

double[] l14_endpt1 = l13_endpt2; 

double[] l14_endpt2 = { 10, 40, 0.00 }; 

double[] l15_endpt1 = l14_endpt2; 

double[] l15_endpt2 = { 0, 40, 0.00 }; 

double[] l16_endpt1 = l15_endpt2; 

double[] l16_endpt2 = { 0, -55, 0.00 }; 
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UFCurve.Line line13 = new UFCurve.Line(); 

UFCurve.Line line14 = new UFCurve.Line(); 

UFCurve.Line line15 = new UFCurve.Line(); 

UFCurve.Line line16 = new UFCurve.Line(); 

 

line13.start_point = new double[3]; 

line13.start_point[0] = l13_endpt1[0]; 

line13.start_point[1] = l13_endpt1[1]; 

line13.start_point[2] = l13_endpt1[2]; 

line13.end_point = new double[3]; 

line13.end_point[0] = l13_endpt2[0]; 

line13.end_point[1] = l13_endpt2[1]; 

line13.end_point[2] = l13_endpt2[2]; 

line14.start_point = new double[3]; 

line14.start_point[0] = l14_endpt1[0]; 

line14.start_point[1] = l14_endpt1[1]; 

line14.start_point[2] = l14_endpt1[2]; 

line14.end_point = new double[3]; 

line14.end_point[0] = l14_endpt2[0]; 

line14.end_point[1] = l14_endpt2[1]; 

line14.end_point[2] = l14_endpt2[2]; 

line15.start_point = new double[3]; 

line15.start_point[0] = l15_endpt1[0]; 

line15.start_point[1] = l15_endpt1[1]; 

line15.start_point[2] = l15_endpt1[2]; 

line15.end_point = new double[3]; 

line15.end_point[0] = l15_endpt2[0]; 

line15.end_point[1] = l15_endpt2[1]; 

line15.end_point[2] = l15_endpt2[2]; 

line16.start_point = new double[3]; 

line16.start_point[0] = l16_endpt1[0]; 

line16.start_point[1] = l16_endpt1[1]; 

line16.start_point[2] = l16_endpt1[2]; 

line16.end_point = new double[3]; 

line16.end_point[0] = l16_endpt2[0]; 

line16.end_point[1] = l16_endpt2[1]; 
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line16.end_point[2] = l16_endpt2[2]; 

 

Tag[] objarray3 = new Tag[7]; 

theUfSession.Curve.CreateLine(ref line13, out objarray3[0]); 

theUfSession.Curve.CreateLine(ref line14, out objarray3[1]); 

theUfSession.Curve.CreateLine(ref line15, out objarray3[2]); 

theUfSession.Curve.CreateLine(ref line16, out objarray3[3]); 

 

theUfSession.Modl.CreateRevolved(objarray3, limit1, 

ref_pt1, direction1, FeatureSigns.Positive, out features1); 

///////////////////////////////////////////// double[] 

l131_endpt1 = { 0, -55, 0.00 }; 
double[] l131_endpt2 = { 8, -55, 0.00 }; 

 

double[] l141_endpt1 = l131_endpt2; 

double[] l141_endpt2 = { 8, 40, 0.00 }; 

 

double[] l151_endpt1 = l141_endpt2; 

double[] l151_endpt2 = { 0, 40, 0.00 }; 

 

double[] l161_endpt1 = l151_endpt2; 

double[] l161_endpt2 = { 0, -55, 0.00 }; 

 

UFCurve.Line line131 = new UFCurve.Line(); 

UFCurve.Line line141 = new UFCurve.Line(); 

UFCurve.Line line151 = new UFCurve.Line(); 

UFCurve.Line line161 = new UFCurve.Line(); 

 

line131.start_point = new double[3]; 

line131.start_point[0] = l131_endpt1[0]; 

line131.start_point[1] = l131_endpt1[1]; 

line131.start_point[2] = l131_endpt1[2]; 

line131.end_point = new double[3]; 

line131.end_point[0] = l131_endpt2[0]; 

line131.end_point[1] = l131_endpt2[1]; 

line131.end_point[2] = l131_endpt2[2]; 
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line141.start_point = new double[3]; 

line141.start_point[0] = l141_endpt1[0]; 

line141.start_point[1] = l141_endpt1[1]; 

line141.start_point[2] = l141_endpt1[2]; 

line141.end_point = new double[3]; 

line141.end_point[0] = l141_endpt2[0]; 

line141.end_point[1] = l141_endpt2[1]; 

line141.end_point[2] = l141_endpt2[2]; 

line151.start_point = new double[3]; 

line151.start_point[0] = l151_endpt1[0]; 

line151.start_point[1] = l151_endpt1[1]; 

line151.start_point[2] = l151_endpt1[2]; 

line151.end_point = new double[3]; 

line151.end_point[0] = l151_endpt2[0]; 

line151.end_point[1] = l151_endpt2[1]; 

line151.end_point[2] = l151_endpt2[2]; 

line161.start_point = new double[3]; 

line161.start_point[0] = l161_endpt1[0]; 

line161.start_point[1] = l161_endpt1[1]; 

line161.start_point[2] = l161_endpt1[2]; 

line161.end_point = new double[3]; 

line161.end_point[0] = l161_endpt2[0]; 

line161.end_point[1] = l161_endpt2[1]; 

line161.end_point[2] = l161_endpt2[2]; 

 

Tag[] objarray4 = new Tag[7]; 

theUfSession.Curve.CreateLine(ref line131, out objarray4[0]); 

theUfSession.Curve.CreateLine(ref line141, out objarray4[1]); 

theUfSession.Curve.CreateLine(ref line151, out objarray4[2]); 

theUfSession.Curve.CreateLine(ref line161, out objarray4[3]); 

theUfSession.Modl.CreateRevolved(objarray4, limit1, ref_pt1, 

direction1, FeatureSigns.Negative, out features1); 

 

�0;55   ?5@5E>48<   :   A>740=8N   ?>A;54=59   G0AB8 3 
D8;LB@0. "1I89 284 ?@54AB02;5= =0 @8A. 4.5. 
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$8A. 4.5. (8;LB@ 
 

Tag UFPart1; 

string name1 = "cylindr"; 
int units1 = 1; 

theUfSession.Part.New(name1, units1, out UFPart1); 

 

double[] l1_endpt1 = { 10, 0, 0.00 }; 

double[] l1_endpt2 = { 22.5, 0, 0.00 }; 

 

double[] l2_endpt1 = l1_endpt2; double[] 

l2_endpt2 = { 22.5, 160, 0.00 }; 

 

double[] l3_endpt1 = l2_endpt2; double[] 

l3_endpt2 = { 10, 160, 0.00 }; 

 

double[] l4_endpt1 = l3_endpt2; 
double[] l4_endpt2 = { 10, 0, 0.00 }; 

 

UFCurve.Line line1 = new UFCurve.Line(); 

UFCurve.Line line2 = new UFCurve.Line(); 

UFCurve.Line line3 = new UFCurve.Line(); 

UFCurve.Line line4 = new UFCurve.Line(); 

line1.start_point = new double[3]; 

line1.start_point[0] = l1_endpt1[0]; 
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line1.start_point[1] = l1_endpt1[1]; 

line1.start_point[2] = l1_endpt1[2]; 

line1.end_point = new double[3]; 

line1.end_point[0] = l1_endpt2[0]; 

line1.end_point[1] = l1_endpt2[1]; 

line1.end_point[2] = l1_endpt2[2]; 

line2.start_point = new double[3]; 

line2.start_point[0] = l2_endpt1[0]; 

line2.start_point[1] = l2_endpt1[1]; 

line2.start_point[2] = l2_endpt1[2]; 

line2.end_point = new double[3]; 

line2.end_point[0] = l2_endpt2[0]; 

line2.end_point[1] = l2_endpt2[1]; 

line2.end_point[2] = l2_endpt2[2]; 

line3.start_point = new double[3]; 

line3.start_point[0] = l3_endpt1[0]; 

line3.start_point[1] = l3_endpt1[1]; 

line3.start_point[2] = l3_endpt1[2]; 

line3.end_point = new double[3]; 

line3.end_point[0] = l3_endpt2[0]; 

line3.end_point[1] = l3_endpt2[1]; 

line3.end_point[2] = l3_endpt2[2]; 

line4.start_point = new double[3]; 

line4.start_point[0] = l4_endpt1[0]; 

line4.start_point[1] = l4_endpt1[1]; 

line4.start_point[2] = l4_endpt1[2]; 

line4.end_point = new double[3]; 

line4.end_point[0] = l4_endpt2[0]; 

line4.end_point[1] = l4_endpt2[1]; 

line4.end_point[2] = l4_endpt2[2]; 

 

Tag[] objarray1 = new Tag[7]; 

theUfSession.Curve.CreateLine(ref line1, out objarray1[0]); 

theUfSession.Curve.CreateLine(ref line2, out objarray1[1]); 

theUfSession.Curve.CreateLine(ref line3, out objarray1[2]); 

theUfSession.Curve.CreateLine(ref line4, out objarray1[3]); 



75  

double[] ref_pt1 = new double[3]; 

ref_pt1[0] = 0.00; 

ref_pt1[1] = 0.00; 

ref_pt1[2] = 0.00; 

double[] direction1 = { 0.00, 1.00, 0.00 }; 

string[] limit1 = { "0", "360" }; 

Tag[] features1; 

 

theUfSession.Modl.CreateRevolved(objarray1, limit1, 

ref_pt1, direction1, FeatureSigns.Nullsign, out features1); 

///////////////////////////////////////////////////// 
double[] l11_endpt1 = { 0, 2.5, 0.00 }; 

double[] l11_endpt2 = { 20, 2.5, 0.00 }; 

double[] l21_endpt1 = l11_endpt2; double[] 

l21_endpt2 = { 20, 157.5, 0.00 }; double[] 

l31_endpt1 = l21_endpt2; double[] 

l31_endpt2 = { 0, 157.5, 0.00 }; double[] 

l41_endpt1 = l31_endpt2; double[] 

l41_endpt2 = { 0, 2.5, 0.00 }; 

 

UFCurve.Line line11 = new UFCurve.Line(); 

UFCurve.Line line21 = new UFCurve.Line(); 

UFCurve.Line line31 = new UFCurve.Line(); 

UFCurve.Line line41 = new UFCurve.Line(); 

 

line11.start_point = new double[3]; 

line11.start_point[0] = l11_endpt1[0]; 

line11.start_point[1] = l11_endpt1[1]; 

line11.start_point[2] = l11_endpt1[2]; 

line11.end_point = new double[3]; 

line11.end_point[0] = l11_endpt2[0]; 

line11.end_point[1] = l11_endpt2[1]; 

line11.end_point[2] = l11_endpt2[2]; 

line21.start_point = new double[3]; 

line21.start_point[0] = l21_endpt1[0]; 
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line21.start_point[1] = l21_endpt1[1]; 

line21.start_point[2] = l21_endpt1[2]; 

line21.end_point = new double[3]; 

line21.end_point[0] = l21_endpt2[0]; 

line21.end_point[1] = l21_endpt2[1]; 

line21.end_point[2] = l21_endpt2[2]; 

line31.start_point = new double[3]; 

line31.start_point[0] = l31_endpt1[0]; 

line31.start_point[1] = l31_endpt1[1]; 

line31.start_point[2] = l31_endpt1[2]; 

line31.end_point = new double[3]; 

line31.end_point[0] = l31_endpt2[0]; 

line31.end_point[1] = l31_endpt2[1]; 

line31.end_point[2] = l31_endpt2[2]; 

line41.start_point = new double[3]; 

line41.start_point[0] = l41_endpt1[0]; 

line41.start_point[1] = l41_endpt1[1]; 

line41.start_point[2] = l41_endpt1[2]; 

line41.end_point = new double[3]; 

line41.end_point[0] = l41_endpt2[0]; 

line41.end_point[1] = l41_endpt2[1]; 

line41.end_point[2] = l41_endpt2[2]; 

 

Tag[] objarray2 = new Tag[7]; 

theUfSession.Curve.CreateLine(ref line11, out objarray2[0]); 

theUfSession.Curve.CreateLine(ref line21, out objarray2[1]); 

theUfSession.Curve.CreateLine(ref line31, out objarray2[2]); 

theUfSession.Curve.CreateLine(ref line41, out objarray2[3]); 

theUfSession.Modl.CreateRevolved(objarray2, limit1, ref_pt1, 

direction1, FeatureSigns.Negative, out features1); 

 

�;O A>740=8O A1>@:8 =5>1E>48<> A>740BL =>2K9 ?@>5:B 8 
@07<5AB8BL 2 =5< :>4, C:070==K9 =865. 
Tag UFPart; 

string name1 = "Filter"; 

int units = 1; 
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theUfSession.Part.New(name1, units, out UFPart); 

/*� ?5@5<5==CN parent_part, 70?8AK205BAO @57C;LB0B 
2>72@0I05<K9 DC=:F859 AskDisplayPart. � A2>N >G5@54L 
40==0O DC=:F8O 2>72@0I05B tag B5:CI59 <>45;8. �;O =5 
A1>@>G=>9 <>45;8 MB> @01>G0O <>45;L. �A;8 2 =0AB>OI55 
2@5<O =5B @01>G59 <>45;8, B> 2>72@0I05BAO NULL_TAG. */ 

Tag parent_part = theUfSession.Part.AskDisplayPart(); 

//?5@5<5==K5 error_status, 2 :>B>@K5 1C45B 70?8AK20BLAO 
//AB0BCA 703@C7:8 <>45;59 

UFPart.LoadStatus error_status, error_status2, error_status3; 

//>1JO2;5=85 ?5@5<5==KE 2 :>B>@K5 ?@>8AE>48B 70?8AL tag-0 
//=>2>3> >1J5:B0 <>45;8 

Tag instance, instance1, instance2; 

 

/*"1JO2;5=85 8 70?8AL 7=0G5=89 2 ?5@5<5==K5. #5@5<5==K5 
origin A>45@60B ?>78F88 :064>9 87 <>45;59 2 @>48B5;LA:>9 

A1>@>G=>9 <>45;8. 
#5@5<5==K5 matrix >?@545;ONB >@85=B0F8N :064>9 87 
<>45;59 2 A8AB5<5 :>>@48=0B @>48B5;LA:>9 A1>@>G=>9 

<>45;8.*/ 
 

double[] origin1 = { 0, 220, 0 }; 

double[] matrix1 = { 1, 0, 0, 0, 1, 0 }; 

double[] origin2 = { 0, 0, 0 }; 

double[] matrix2 = { 1, 0, 0, 0, 1, 0 }; 

double[] origin3 = { 0, 7.5, 0 }; 

double[] matrix3 = { 1, 0, 0, 0, 1, 0 }; 

 

//?>>G5@54=>5 4>102;5=85 <>45;59 45B0;59 D8;LB@0, :>B>@K5 
//2E>4OB 2 A1>@>G=CN <>45;L :>=AB@C:F88 

 

/*%B@C:BC@0 ?0@0<5B@>2 DC=:F88 AddPartToAssembly: 

1) parent_part 3 tag <>45;8 4;O 4>102;5=8O 45B0;59; 
2) part 3 8<O 4>102;O5<>9 <>45;8; 
3) refset_name 3 =08<5=>20=85 <=>65AB20 G0AB59 <>45;8 4;O 
4>102;5=8O; 
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4) instance_name - Name of new instance; 

5) origin [ 3 ] 3 ?>78F8O 2 @>48B5;LA:>9 <>45;8; 
6) csys_matrix [ 6 ] 3 >@85=B0F8O 2 @>48B5;LA:>9 <>45;8; 
7) layer 3 A;>9 (0) 3 B5:CI89 A;>9; 
8) instance 3 tag =>2>9 45B0;8 2 A1>@:5; 
9) error_status 3 AB0BCA >H81:8 4>102;5=8O. 

*/ 

 

theUfSession.Assem.AddPartToAssembly(parent_part, "Krishka", null, 

null, origin1, matrix1, 0, out instance, out error_status); 

 

theUfSession.Assem.AddPartToAssembly(parent_part, "Korpus", 
null, null, origin2, matrix2, 0, out instance1, out error_status2); 

 

theUfSession.Assem.AddPartToAssembly(parent_part, "cylindr", 

null, null, origin3, matrix3, 0, out instance2, out error_status3); 

 

4.2. �@0:B8G5A:0O G0ABP 

4.2.1. �040=85 =0 ;01>@0B>@=CN @01>BC 

�040=85 2K405BAO ?@5?>4020B5;5< ?> 20@80=B0<. 
#@8<5@ 20@80=B>2. 

#@8<5@ 1. � ;01>@0B>@=>9 @01>B5 ?@54;0305BAO 2K?>;=8BL 
A1>@>G=CN <>45;L HB0<?0 4;O 684:>9 HB0<?>2:8, 
?@54AB02;5==CN =0 @8A. 4.6. 
 

 

$8A. 4.6. %1>@>G=0O <>45;L HB0<?0 4;O 684:>9 HB0<?>2:8 



#@8<5@ 2. � ;01>@0B>@=>9 @01>B5 ?@54;0305BAO 2K?>;=8BL A1>@>G=CN <>45;L 
?=52<>384@02;8G5A:>3> :;0?0=0, ?@54AB02;5==CN =0 @8A. 4.7. 
 

$8A. 4.7. %1>@>G=0O <>45;L ?=52<>384@02;8G5A:>3> :;0?0=0 
 

4.2.2. !>45@60=85 >BG5B0 ?> ;01>@0B>@=>9 @01>B5 
1. !0720=85 8 F5;L @01>BK. 
2. %:@8=H>BK A :@0B:8< >?8A0=85<, A>>B25BAB2CNI85 

>A=>2=K< H030< 2K?>;=5==>9 @01>BK. 
3. %:@8=H>BK, 45<>=AB@8@CNI85 @01>B>A?>A1>=>ABL A>740==>9 181;8>B5:8. 
4. �8AB8=3 ?@3@0<<K A :><<5=B0@8O<8. 
5. %:@8=H>BK 3D-<>45;8, AD>@<8@>20==>9 �0H59 181;8>B5:>9. 
6. �K2>4K. 

 


